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ljlzi6Ls/0f tflnsf (Specification grid)

kl/ro
lzIffsf /fli6«o p2]Zo kl/k"lt{ ug]{ dxŒjk"0f{ ;fwg kf7\oqmd xf] . kf7\os|dsf] k|efjsf/L sfof{Gjog 
x'g ;s]df dfq lzIffsf] u'0f:t/ clej[l4 x'g ;Sb5 . kf7\os|dsf] ;xL ¿kdf sfof{Gjog ug{sf 
nflu k|efjsf/L lzIf0f l;sfO k|ls|ofsf ;fy} d"Nofª\sg k|0ffnLsf] cxd\ e"ldsf /x]sf] x'G5 . t;y{ 
kf7\os|dsf] k"0f{ sfof{Gjogdf d"Nofª\sg k|0ffnL k|efjsf/L x'g h?/L x'G5 . 

kf7\oqmdsf lglb{i6 p2]Zox¿ k"lt{ eP ePgg\ eGg] s'/fsf] n]vf hf]vf ug]{ k|ls|of d"Nofª\sg xf] eg] 
d"Nofª\sg k|lqmofnfO{ of]hgfa4 tyf k|efjsf/L agfpg] dxŒjk"0f{ ;fwg ljlzi6Ls/0f tflnsf klg Ps 
xf] . lzIfsf] u'0f:t/ / k|efjsfl/tf clej[l4 ug{ d"Nofª\sg k|0ffnLdf ;'wf/ ug{ cTofjZos x'G5 . 
d"Nofª\sg k|0ffnLdf ;'wf/ ug{ kf7\qmdsf ;Dk"0f{ kIf ;d]6]/ d"Nofª\sgsf ;fwg lgdf{0f u/L d"Nofª\sg 
k|lqmof ;~rfng ug'{ ckl/xfo{ x'G5 . xfd|f] jt{dfg z}lIfs k|lqmofdf d"Nofª\sgsf] cleGg cª\usf 
¿kdf k/LIffnfO{ lnOg] ul/Psf] 5 . kf7\oqmdsf p2]Zo k|fKt x'g] u/L kf7\oqmdsf ;a} ljifoj:t' 
;d]6]/ kf7\oqmdåf/f lglb{i6 d"Nofª\sg k|lqmof ckgfO{ d"Nofª\sgsf ;fwgsf ¿kdf k/LIffnfO{ k|of]udf 
Nofpg ljlzi6Ls/0f tflnsfsf] dxŒjk"0f{ /x]sf] x'G5 . k/LIff ;~rfng ug'{cufl8 k|Zgkqx¿ s:tf 
agfpg, s'g PsfO jf kf7af6 s'g k|sf/sf] k|Zg ;f]Wg], s'g p2]Zosf] d"Nofª\sg ug{ s:tf] k|Zgkq 
tof/ ug]{, k|Zgsf] cª\sef/ slt lbg], s'g k|ZgnfO{ slt ;do lgwf{/0f ug]{ h:tf s'/fx¿ ljrf/ 
u/]/ k|Zgkq lgdf{0f ug{ cfjZos x'G5 . o;/L x/]s lzIfsn] k/LIff ;~rfng ug'{cufl8 log} 
s'/fx¿ ;dfj]z u/L tof/ kfl/g] tflnsfnfO{ g} ljlzi6Ls/0f tflnsf elgG5 . o;/L pSt tflnsfdf 
kf7\qmdsf p2]Zo, ljifoj:t', cª\sef/, ;do cflbnfO{ Vofn u/L s'g PsfOaf6 s:tf / sltcf]6f 
k|Zgx¿ ;f]Wg], s'g k|Zg slt cª\ssf] /fVg], s'g k|ZgnfO{ slt ;do lbg] k|Zgdf 1fg, l;k / pRr 
IfdtfnfO{ s'g s'g k|Zgaf6 d"Nofª\sg ug]{ h:tf s'/fx¿ ;dfj]z ul/Psf] x'G5 . ljlzi6Ls/0f 
tflnsfs} cª\usf ¿kdf gd'gf k|Zgkq / To;sf] pQ/s'l~hsfnfO{ klg lng ;lsG5 . o;/L x]bf{ 
ljlzi6Ls/0f tflnsf k|Zgkq lgdf{0fstf{ / pQ/k'l:tsf k/LIfssf nflu Psk|sf/sf] dfu{bz{g jf 
lgb]{lzsf klg xf] . lzIfsn] lzIf0f k|lqmof ;~rfng ubf{ klg s'g ljifoj:t'nfO{ s;/L / s'g p2]Zo 
k|flKtsf nflu ug]{ eGg] dfu{lgb]{z klg o; tflnsfn] ub{5 . 

ljlzi6Ls/0f tflnsfn] lzIfs tyf k|Zgkq lgdf{0fstf{nfO{ k|Zgkq agfpFbf ljifoj:t'ut j}wtf 
lgwf{/0f ug{ lgb]{lzt ub{5 . o;df kf7\oqmdsf] p2]Zocg';f/ k/LIff / d"Nofª\sg k|ltljlDat ePsf] 
x'G5 . k/LIffsf] :t/Ls/0f, Ps¿ktf / j}wtfsf nflu ljlzi6Ls/0f tflnsfn] dxŒjk"0f{ e"ldsf v]n]sf] 
x'G5 . o;df l;sfOsf ;Dk"0f{ kIf ;d]l6Psf] x'g'k5{ . kf7\oqmdsf ;Dk"0f{ If]qaf6 k|Zg lgdf{0f ug{ 
;lsg] u/L 1fg, af]w / cGo txsf k|Zgx¿ lgdf{0f ug{, k|Zg ;ª\Vof, ;do / cª\s lgwf{/0f ug{ 
tyf d"Nofª\sg ug]{ k|lqmof ;d]tnfO{ lgwf{/0f ug]{ x'Fbf lzIf0f l;sfO k|lqmofdf o;sf] cxd\ e"ldsf 
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/x]sf] x'G5 . 

s'g} klg ljifosf] kf7\oqmdcg';f/ ljlzi6Ls/0f tflnsf km/s km/s 9ª\un] lgdf{0f ug{ ;lsG5 . 
To:t} ljifosf] k|s[lt / :j¿kcg';f/ klg ljlzi6Ls/0f tflnsf lgdf{0f x'g ;Sb5 . t}klg ;fdfGotof 
ljlzi6Ls/0f tflnsf lgdf{0f ubf{ lgDglnlvt s'/fx¿ ljrf/ ug{ cfjZos x'G5M

!= kf7\oqmdsf ;Ifdtf

@= ljifoj:t'sf If]q  jf ljwfx¿

#= l;sfOsf ljleGg txx¿M ;DemfO, a'emfO, k|of]u, ljZn]if0f, d"Nofª\sg, l;h{gf cflb kIfx¿

$= kf7\oqmdåf/f lglb{i6 kf7\oef/ / ljifoj:t'sf] Jofkstf

%= k/LIfdf ;f]lwg] k|Zgsf k|sf/, k|Zgsf :t/, k|Zgsf ;ª\Vof, cª\sef/ / ;do

^= k|Zg lgdf{0fsf nflu :ki6 dfu{lgb]{zg

&= ljlzi6Ls/0f tflnsfcg';f/sf] gd'gf k|Zgkq Pjd\ To;sf] pQ/s'l~hsf 

k|Zgkq lgdf{0f ubf{ k|ofu x'g] lqmofkbx¿

k|Zgkq lgdf{0f ubf{ k|ZgnfO{ dfkgLo, j:t'ut,  ljZj;gLo / j}w agfpg w]/} s'/fdf Wofg k'¥ofpg 
cfjZos x'G5 . To:t} 1fg, af]w / cGo txsf k|Zgx¿ lgdf{0f ug{ lglZrt lqmofkbx¿sf] k|of]u 
ug'{kb{5 . t;y{ k|Zgkq lgdf{0f ubf{ s'g txsf] k|Zgdf s:tf lqmofkb k|ofu ug{ pko'St x'G5 eGg] 
hfgsf/Lsf nflu oxfF s]xL lqmofkbx¿ pbfx/0f:j¿k k|:t't ul/Psf] 5 M 

-s_ 1fg txsf nflu M 1fg txsf k|Zgdf ljifoj:t'sf] 1fgnfO{ hf]8 lbOg] x'gfn] To;cg'¿ksf 
lqmofkbx¿ /fvL k|Zg lgdf{0f ug'{kb{5 . h:t}M kl/efiff lbg', JofVof ug'{, klxrfg ug'{, ;"rL tof/ 
ug'{, t'ngf ug'{, gfd lbg', /]vfª\sg ug'{, pNn]v ug'{, n]Vg' cflb . 

-v_ af]w txsf nflu M s'g} klg ljifo cWoog u/]/, ;'g]/ jf k9]/ a'em\g]  Ifdtf jf  l;k g}  af]w  
xf] . cWoogsf cfwf/df s'g} 1fg ;Lk u|x0f u/L c?nfO{ a'emfpg] jf af]w ug]{ Ifdtf klg o;df 
kb{5 . t;y{ o; vfnsf] k|Zgdf 5'6\ofpg', b]vfpg', 5fGg', ;"lrt ug'{, ¿kfGt/ ug'{, lg0f{o lbg', 
k'li6 ug'{, pbfx/0f lbg', JofVof ug'{, t'ngf ug'{ h:tf lqmofkb k|of]u u/L k|Zg lgdf{0f ug'{kb{5 . 

-u_ cGo tx M 1fg, af]weGbf pRr bIftf / Jofjxfl/s l;k;Fu ;DalGwt k|Zg txnfO{ oxfF cGo tx 
elgPsf] xf] . o; txdf ;fdfGo 1fg / a'em\g]eGbf pRr bIftf / Ifdtfsf] k/LIf0f ul/g] x'gfn] 
To:t} vfnsf lqmofkbx¿ k|Zgkqdf k|of]u ul/g'kb{5 . h:t}M kl/jt{g ug'{, k|bz{g ug'{, vf]h 
ug'{, ;'wf/ ug'{, JofVof ug'{, tof/ ug'{, ;DaGw b]vfpg', ;dfwfg ug'{, ljefhg ug'{, km/s b]vfpg', 
5gf]6 ug'{, lj:tf/ ug'{, lgdf{0f ug'{, k'gn]{vg ug'{, ;f/f+z n]Vg', ljj]rgf ug'{, ljZn]if0f ug'{ ;dLIff 
ug'{, k'li6 ug'{, d'Nofª\sg ug'{, 5nkmn ug'{, lrq agfpg', l;h{gf ug'{ cflb . 

ljlzi6Ls/0f tflnsfsf] k|of]u
jt{dfg d"Nofª\sg k|lqmofdf ;'wf/ u/L kf7\oqmdsf] d'Nofª\sg k|lqmofcg'¿k ljlzi6Ls/0f tflnsf 
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lgdf{0f ug]{, ljlzi6Ls/0f tflnsfcg';f/ gd'gf k|Zgkq agfO{ k/LIff ;~rfng ug]{ / tbg'¿k lzIfs 
tyf ljBfyL{x¿df o;sf] k|ofu ub}{ hfg] afgL a;fNg' cfh ckl/xfo{ eO;s]sf] 5 . kf7\oqmdn] lgwf{/0f 
u/]sf nIo tyf p2]Zo k"/f ug{sf nflu ljlzi6Ls/0f tflnsfsf] lgdf{0f u/L ;Dk"0f{ kIfnfO{ ;d]6\g] 
u/L k|Zgkq tof/ u/]/ ;f]cg';f/ k/LIff ;~rfng k/LIf0f / k[i7kf]if0f ug{ cTofjZos ePsfn] 
o;sf] dxŒjk"0f{ e"ldsf /x]sf] 5 . d"ntM ljlzi6Ls/0f tflnsfsf] k|of]u lgDglnlvt sfo{sf nflu 
ug{ ;lsG5 M

!= of]hgf lgdf{0f ug{

x/]s k|sf/sf z}Ifl0fs of]hgf lgdf{0f ug{ ljlzi6Ls/0f tflnsfn] ;xof]u k'¥ofpF5 . ljBfyL{x¿sf 
l;sfO pknlAw dfkg ug{ cfjZos d"Nofª\sg ;fdu|L s:tf] vfnsf], slt ef/sf] x'g] / k|Zg ;ª\Vof 
h:tf s'/fx¿ cWofkg of]hgfdf /fVg ;xof]u k'Ug] x'Fbf d"Nofª\sgsf] cleGg cª\usf ¿kdf of]hgf 
lgdf{0fdf ljlzi6Ls/0f tflnsfsf] k|of]u ug'{kb{5 . 

@= pko'St k|Zg kqsf] lgdf{0f ug{

Ps lglZrt ;dofjlwleq kf7\oqmd jf p2]Zocg¿k ljBfyL{x¿sf l;sfO pknlAw d"Nofª\sg ug{ 
l;sfOsf txcg'¿k k|Zgkqsf lglZrt k|sf/ / ;ª\Vof, cª\sef/, ;do cflb o;df /flvg] x'Fbf 
k|Zgkq lgdf{0f ug{ o;n] ;3fpF5 . t;y{ d"Noffª\sgnfO{ k|efjsf/L ¿kdf k|of]u ug{ o;n] ;3fpF5 . 

#= ljBfyL{x¿sf] l;sfOdf clej[l4 ug{

o; tflnsfdf l;sfOsf s'gs'g txx¿nfO{ dfkg ug]{ / x/]s txsf l;nfOnfO{ slt ef/ lbg] eGg] 
h:tf s'/fx¿ /flvPsf] x'G5 . t;y{ lzIf0fl;sfO lqmofsnfkdf oL s'/fx¿nfO{ ;fd~h:o sfod 
u/fpg ;lsPdf ljBfyL{sf] l;sfOdf clej[l4 x'g hfG5 . o; tflnsfdf 1fg, af]w, Jofjxfl/s l;k 
tyf pRr bIftf dfkg ug]{ u/L k|Zgx¿ txcg';f/ lgdf{0f ug]{ k|lqmof pNn]v x'g] x'gfn] klg o; 
tflnsfsf] k|of]u ;xL ¿kdf ePdf ljBfyL{sf] l;sfO clej[l4df ;xof]u k'Ug hfG5 . 

dfly pNn]v ul/Psf cfwf/df aF'bfut ¿kdf ljlzi6Ls/0f tflnsfn] lzIfs, ljBfyL{ / k|Zgkq 
lgdf{0fstf{nfO{ k/LIff / d"Nofª\sg sfo{ ;~rfng ug{ lgDgfg';f/sf] ;xof]u k'¥ofpF5 M

•	 kf7\qmdsf p2]Zo Pjd\ ljifoj:t'sf ;Dk"0f{ If]q / ljwf ;d]6]/ k|Zg lgdf{0f ug{

•	 ;do, k"0ff{ª\s tyf k|Zg ;ª\Vof olsg ug{

•	 s'g ljwf jf If]qaf6 s:tf / slt k|Zg lgdf{0f ug]{ eGg]af/]df lgb]{z ug{

•	 ;a} l;k / bIftf ;d]6\g] u/L k|Zgkq lgdf{0f ug{

•	 k|Zgkq lgdf{0fstf{ / lzIfsnfO{ kyk|bz{g ug{

•	 k|ZgkqnfO{ j}1flgs / Jojl:yt agfO{ Ps¿ktf Nofpg

•	 k/LIffdf ljZj;gLotf Nofpg / ljBfyL{ ljBfyL{ larsf] pknlAw t'ngf ug{

•	 kf7sf] p2]Zo / ljBfyL{sf] pknlAwsf lar t'ngf ug{
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•	 ljBfyL{df ;Dk"0f{ If]q / ljwf ;d]6]/ k9\g] afgLsf] ljsf; ug{

•	 z}Ifl0fs of]hgf lgdf{0fdf d"Nofª\sgsf k|Zg to ug{ 

o;/L dfly pNn]v ePsf a'Fbfn] ljlzi6Ls/0f tflnsfsf] k|of]u dxŒjnfO{ :ki6 kfb{5 . 
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cy{zf:q
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k|Zgsf k|sf/x¿

j|m=;= k|Zgsf] lsl;d cª\s ;do

! clt ;ª\lIfKt pQ/fTds k|Zg ! x !) = !) !% ldg]6

@ ;ª\lIfKt pQ/fTds k|Zg % x !@ = ^) ! 3G6f $% ldg]6

#= nfdf] pQ/ cfpg] k|Zg !) x # = #) ^) ldg]6

hDdf !)) # 3G6f

b|i6JoM

!= 	;ª\lIfKt pQ/fTds k|ZgcGtu{t PsfO ! -nfut tyf cfo jqm /]vfx¿_ / PsfO $ -d'b|f, 
a}ª\lsª tyf u}/a}ª\lsª ljQLo ;+:yf_ af6 ljsNk k|Zg ;f]lwg] 5 .

@= 	nfdf] pQ/ cfpg] k|ZgcGtu{t PsfO !) -tYofª\sLo cf}hf/x¿_ af6 ljsNk k|Zg ;f]lwg] 5 .
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dfWolds lzIff k/LIff
gd'gf k|Zgkq

ljifo M cy{zf:q							       ;doM # 306f

k"0ff{ª\sM !))

;d"x s Group ‘A'

tnsf k|Zgx¿sf] clt 5f]6f] pQ/ lbg'xf];\ M                             !)×!=!)

Give very short answer to the following questions.	

!=	 pTkfbg kl/df0f %% PsfOaf6 ^% df j[l4 x'“bf s'n nfut ?= !&*) af6 a9]/ !(#) 		
	 x'G5 	

	 eg] ;LdfGt nfut slt xf] <

	 What is the marginal cost if production change from 25 to 65 units causes to 
change the total cost from Rs. 1780 to 1930?

@= 	 nfut eg]sf] s] xf] <

	 What is cost?

#=	 pTkfbg ;Gt'ngsf nflu cfjZos ;t{ n]Vg'xf];\ . 

	 Write the conditions for output determination.

$=	 ;LdfGt e"ld s:tf] e"ld xf] <

	 What type of land is marginal land?

%=	 s:tf] d'b|fnfO{ k|fdfl0fs wft' d'b|f elgG5 <

	 What type of money is called standard coin?

^=	 k|ltufdL s/ k|0ffnLsf] cy{ k|:6 kfg'{xf];\ . 

	 Clear the meaning of regressive tax system.

&=	 dfgj ljsf; ;"rsfª\s eg]sf] s] xf] <

	 What is human development index?

*=	 Jofkf/ ;+/If0f s;/L sfod ul/G5 <

	 How is the protected trade created?

(=	 l/sf8f]{sf cg';f/ s:tf] j:t'sf] cfoft ul/G5 <
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	 What types of goods are imported as per Ricardo?

!)=	 g]kfndf k|b]zcGtu{t of]hgfsf] lgdf{0f / kl/rfng s'g lgsfon] ub{5 <

	 Which authority is responsible to prepare and implement economic planning in 
state in Nepal?

;d"x v Group ‘B'

tnsf k|Zgx¿sf] 5f]6f] pQ/ lbg'xf];\M	        !@×%=^)

Give short answer to the following questions.	

!!=	 tnsf] tflnsf k"/f u/L s'n nfut / s'n kl/jt{gzLn nfutsf] ;DaGw n]Vg'xf];\ . 

	 Complete the table below and write the relation of total variable cost and total 
cost.

kl/df0f (Quantity)
0 1 2 3 4 5 6

s'n nfut (TC)
12 18 20 21 22 	26 33

s'n kl/jt{gzLn nfut (TVC)

s'n l:y/ nfut (TFC) 10

cyjf 

	 ck"0f{ k|lt:kwf{df ;LdfGt / s'n cfosf] ;DaGw rrf{ ug'{xf];\ . 

	 Discuss the relation of marginal and total revenue under perfect competition.

!@=	 Psflwsf/L ahf/sf ljz]iftfx¿ n]Vg'xf];\ . 

	 Write the features of monopoly market.

!#=	 df}lb|s / jf:tljs Hofnflarsf] leGgtf k|:6 kfg'{xf];\ . 

	 Differentiate between nominal and real wage.

!$=	 kq d'b|fsf k|sf/x¿ rrf{ ug'{xf];\ . 

	 Discuss the types of paper money.

cyjf
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	 hLjg / lghL{jg ladflar leGgtf 5'6\ofpg'xf];\ .

	 Differentiate between life and non life insurance.

!%=	 ah]6sf d'Vo cª\ux¿ s] s] x'g\ < n]Vg'xf];\ . 

	 What are the major components of budget? Discuss.

!^=	 ;/sf/L vr{sf] dxŒj pNn]v ug'{xf];\ . 

	 Mention the importance of public expenditure.

!&=	 dfgj ljsf; ;"rsfª\sn] cfly{s ljsf;nfO{ s;/L ;"lrt ub{5 < 

	 How does human development index represent economic development?

!*= 	 cfly{s ljsf;sf] zf:qLo l;4fGtsf] 5f]6f] rrf{ ug'{xf];\ . 

	 Briefly discuss the classical approach of economic development.

!(=	 cGt/f{li6«o Jofkf/sf] dxŒj 5f]6s/Ldf rrf{ ug'{xf];\ . 

	 Briefly discuss the importance of foreign trade.

@)=	 g]kfnsf] rfn' of]hgfsf /0fgLltx¿ n]Vg'xf];\ . 

	 Write the strategies of current plan of Nepal.

@!=	 b'O{ u'0f tflnsfnfO{ pbfx/0f;lxt JoSt ug'{xf];\ . 

	 Present the two way table with the help of example.

@@=	 tnsf] tYofª\ssf nflu ax'u'0fL :tDelrqsf] /rgf ug'{xf];\ . 

	 Construct a multiple bar diagram for the data below.

	                                      -pTkfbg lSj÷MT)

      jif{ lj=;+=  (Year B.S.)

afnL (Crops)

2070 2071 2072

wfg (Paddy) 100 90 120

ds} (Maize) 150 200 100

ux'“ (Wheat) 80 60 90
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;d"x u Group ‘C'

tnsf k|Zgx¿sf] nfdf] pQ/ lbg'xf];\  M 		 #×!)=#)

Give long answer to the following questions.	
@#=	 Aofhsf] zf:qLo wf/0ff ;lrq JofVof ug'{xf];\ . 

	 Explain the classical theory of interest.

@$=	 jfl0fHo a}ª\ssf sfo{x¿sf] rrf{ ug'{xf];\ . 

	 Discuss the functions of commercial bank.

@%=	 tnsf] cf“s8faf6 ldnfg lrx\gsf] k|of]u u/L juf{Gt/ !) ePsf] af/Daf/tf tflnsf lgdf{0f 
u/L cª\sul0ftLo dWos u0fgf ug'{xf];\ .

	 Construct a frequency distribution table using tally bars with class interval of 10 
and calculate arithmetic mean.	

	 5, 22, 28, 32, 35, 27, 24, 15, 17, 12, 31, 13, 23, 29, 40, 17, 27, 
	 37, 47, 53, 61, 77, 66, 53, 52, 62, 71, 44, 29, 18, 17, 33, 41, 57, 

63	
cyjf

	 lbOPsf] cf“s8faf6 n]l:ko/ / kf:r]sf] ljlw k|of]u u/L rfn' jif{ @)&^ sf] d"No ;"rsfª\s 
lgdf{0f ug'{xf];\ . 
Construct price index for the current year 2076 using Laspeyere's and Paasche's 
method.

j:t'x¿ (Goods)
cfwf/ jif{ (2073) rfn' jif{ @)&^ (Current Year, 

2076)

d"No ?= 

(Price Rs./unit)

kl/df0f s]=hL=  
(Quantity/kg)

d"No ?= 

(Price Rs./unit)

kl/df0f 
(Quantity)

sk8f (Clothes) 1200 3 1500 5
oftfoft (Transport) 700 2 900 4
vfgf (Food) 400 5 700 6
lzIff (Education) 700 2 850 2
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Oltxf;
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k|Zgsf k|sf/x¿

k|Zgsf k|sf/ ;f]lwg] ;ª\Vof ;do ljefhg k"0ff{ª\s

clt ;ª\lIfKt k|Zg !! !% ldg]6 !!

5f]6f pQ/ cfpg] k|Zg * ! 306f !% ldg]6 $)

Nffdf] pQ/ cfpg] k|Zg # $% ldg]6 @$

hDdf @@ @ 306f !% ldg]6 &%
b|i6Jo M ;a} k|Zg clgjfo{ x'g] 5g\  . 5f]6f pQ/ cfpg] k|Zgdf b'O{ / nfdf] pQ/ cfpg] k|Zgdf 
Ps ljsNk lbg ;lsg] 5 .
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dfWolds lzIff k/LIff
gd'gf k|Zgkq

ljifo M Oltxf;

k"0ff{ª\s M &%                                           ;do M @ 3G6f !% ldg]6 

				    ;d"x s Group ‘A'					   

tnsf k|Zgsf] clt 5f]6f] pQ/ lbg'xf];\ M 				    !! ×!=!!

Give answer of the following questions in one sentence.
!=	 PsLs/0f k"j{ g]kfndf sltcf]6f /fHox¿ lyP < (K)
	 How many kingdoms were there in Nepal before unification?
@=	 g]kfnsf] PsLs/0fdf axfb'/ zfxsf] of]ubfgsf] Ps jfSodf d"Nofª\sg ug'{xf];\ . (U)
	 Evaluate the role of BahadurSaha in unification of Nepal .
#=	 “aflns dtflwsf/" eGgfn] s] a'lemG5 < Ps jfSodf n]Vg'xf];\ . (U)
	 What do you mean by ‘Adult Franchise'? Write in a sentence.
$=	 æhgdt ;ª\u|x tTsfnLg cj:yfsf] dfu lyof] .Æ  s;/L < Ps jfSodf k|:6\ofpg'xf];\ 

.(H.A.)
	 “Referendum was the demand of that time." How?  Clarify in a sentence.
%=	 s;sf] zf;gsfnnfO{ /f]dsf] Oltxf;df :j0f{o'u eg]/ lrlgG5 < s'g} Ps sf/0f lbg'xf];\ .(K)
	 Which ruling period is known as golden age in the history of Rome? Give a 

reason.
^=	 ljZj ;Eotfsf] ljsf;df d];f]kf]6fldofsf] Oltxf;n] k'¥ofPsf] of]ubfgnfO{ Ps jfSodf pNn]v 

ug'{xf];\ . (H.A.)
	 Mention the contribution of Mesopotamia in promotion of world civilization in 

on sententce.
&=	 ?;L j|mflGtdf cNk;ª\Vos hfltx¿ hf/ zf;gsf] lj/f]wdf lsg Psh'6 x'g yfn] < cfkm\gf] 

ljrf/ Ps jfSodf n]Vg'xf];\ . (H.A.)
	 Why did minorities start uniting to oppose the Czar ruler in Russian 

Revolution? Write your opinion in a sentence.
*= 	 k|yd ljZj o'4sf] s'g} Ps d'Vo sf/0f jtfpg'xf];\ . (K)
	 State the one key factor of first world war.
(=	 låtLo ljZjo'4df hfkfgsf] xf/ x'gfsf] s'g} Ps sf/0f n]Vg'xf];\ . (K)
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	 Mention the one major factor that make japan  to lose the second world war.
!)=	 /fi6«;ª\3sf] c;kmntf g} bf];|f] ljZjo'4sf] sf/0f lyof] eGg] egfOnfO{ Ps jfSodf k|:6 

kfg'{xf];\ . (A)
	 “Failure of League of Nation was the cause of the Second World War." Clarify 

this statement in a sentence.
!!=	 ;+o'St /fi6« ;ª\3sf] s'g} Ps p2]ZonfO{ ;dy{g ug]{ Kn]sf8{ tof/ kfg'{xf];\ . (A)
	 Prepare a placard to support any one objectives of the UNO.	

					     ;d"x v Group ‘B'			 

tnsf k|Zgsf] 5f]6f] pQ/ n]Vg'xf];\ M 				    *×%=$)
Give short answer of the following questions. 
!@=	 l;d|f}gu9 ;Eotfsf] ;fdflhs tyf /fhgLlts cj:yfsf] pNn]v ug'{xf];\ . (U)
	 Mention the social and political condition of Simraungadh Civilization.
!#=	 dWosfnLg cj:yfdf afO;] tyf rf}la;] /fHox¿ larsf] ;DaGwsf] d"Nofª\sg ug'{xf];\ .
 	 Evaluate the relationship between the  Baise and Chaubise States at medival 

period ? 				 

						      cyjf

  	 afO;] / rf}la;] /fHodf ePsf kfFr ÷kfFrcf]6f ;sf/fTds pknlAwx¿sf] ;dLIff ug'{xf];\ . (H 
A)

          Analyze the five /five positive achievement during the Baise and    	    
Chaubise State of Nepal.

!$=	 lj=;+= @)$^ b]lv @)%^ ;fn;Ddsf s'g} kfFr d'Vo P]ltxfl;s 36gf / ldltnfO{ ;do /]vfdf 
b]vfpg'xf];\ .(A)

	 Construct a time-line showing major any five historical dates and events from 
2046 B.S. to 2056 B.S.

!%=	 k|yd hgcfGbf]ng ;+:yfut gx'Fb} bf];|f] hgcfGbf]ng lsg eof] < cfkm\gf] ljrf/nfO{ kfFr a'Fbfdf 
k|:t't ug'{xf];\ . (H.A.)

	 Why did People's Movement-II take place without institutionalizing the 
People's Movement-I? Present your opinion in five points.

!^=	 cfw'lgs g]kfnsf] ljsf; s|ddf kl5Nnf] r/0fdf ePsf k|d'v kfFr ljsf; s|dx¿sf] ;ª\lIfKt 
j0f{g ug'{xf];\ . (U)

	 Explan the major five evolutionary steps in latest period of modernNepal.
!&=	 ef/tLo :jtGqtf ;ª\u|fdsf s'g} kfFr sf/0fx¿ 5f]6s/Ldf j0f{g ug'{xf];\ . (K)
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	 Describe briefly any five causes of Indian War of Independence.
!*=	 bf];|f] ljZjo'4sf s'g} kfFr kl/0ffdnfO{ 5f]6s/Ldf j0f{g ug'{xf];\ . (K)
	 Write in brief any five consequences of the Second World War.
!(=	 ;+o'St /fi6« ;ª\3df g]kfnn] v]n]sf] s'g} kfFr e"ldsfnfO{ a'Fbfut ¿kdf k|:t't ug'{xf];\ . 

	 Present point wise any five roles that Nepal has played in the United Nations 
Organization. 

 						      cyjf 

	 ;+o'St /fi6ª;ª\3n] ljZjdf zflGt sfod ug{ u/]sf ;sf/fTds kxnx¿ rrf{ ug'{xf];\ . (V)
	 State the positive intervention done by UNO to maintain the global peace.

;d"x u Group ‘C'

tnsf k|Zgsf] nfdf] pQ/ lbg'xf];\ M					    #×*=@$

Give long answers of the following questions.
@)=	 bf];|f] hgcfGbf]ngsf] cf}lrTo k|:6\ofpFb} o;sf] pknlAwnfO{ ;+:yfut ug{ To;kl5 rflnPsf 

sbdx¿ k|efjsf/L eP gePsf] lja]rgf ug'{xf];\ . 
	 What is federalism ? crifically analyze the co-relation between the Federal, 

Province and Local level.
cyjf

	 ;ª\3Lo zf;g k4lt eg]sf] s] xf] < ;ª\3, k|b]z / :yfgLo txsf cGt/;DaGwsf] ljj]rgf 
ug'{xf];\ . (H.A.)

	 Justifying the significance of People's Movement-II, assess the effectiveness of 
the measures taken after it to institutionalize its achievements.

@!=	 lu|; ;Eotfsf] kl/ro lbFb} of] ;Eotfn] cfw'lgs ljZjnfO{ s] s:tf] of]ubfg lbPsf] 5 < kfFr 
a'Fbfdf ;ª\lIfKt j0f{g ug'{xf];\ . (K)

	 Introduce the Greece Civilization. How has it contributed to the modern world? 
Describe in five points.

@@=	 ?;L j|mflGtsf sf/0fx¿ 5f]6s/Ldf pNn]v ub}{ o;n] lgDTofPsf c;/x¿sf] rrf{ ug'{xf];\ . (V)
	 Mention briefly about the causes of Russian Revolution and explain its impacts 

in brief.



18ljlzi6Ls/0f tflnsf

sDKo'6/ lj1fg
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k|Zgsf k|sf/x¿

k|Zgsf k|sf/x¿ ;f]lwg] ;ª\Vof ;do ljefhg k'0ff{ª\s

clt ;ª\lIfKt k|Zg 12 @% ldg]6 12
5f]6f pQ/ cfpg] k|Zg 11 #% ldg]6 22
Nffdf] pQ/ cfpg] k|Zg 4 #) ldg]6 16
hDdf 27 ! 306f #) ldg]6 50
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dfWolds lzIff k/LIff

gd'gf k|Zgkq

ljifoM sDKo'6/ lj1fg      
k"0ff{ª\s M %)						            ;do M ! 306f #) ldg]6	

;d"x s Group ‘A' 

!= 	tnsf k|Zgx¿sf] Ps jfSodf pQ/ lbg'xf];\ M		  -^×!Ö ^_

    	 Answer the following questions in one sentence:			 
-s_ 	;r{ OlGhg eg]sf] s] xf] < 
     	 What is search engine?
-v_ 	OG6/g]6dfkm{t ul/g] Jofkf/nfO{ s] elgG5 <

    	 What is the business done through the internet?
-u_ 	Pd=P;= PS;];df s'g 8f6f 6fOkn] cNkmf Go'd]l/s Sof/]S6/ jf :k];n l;Daf]N;nfO{ cg'dlt 

lbG5 < 

     	 Which data type is used to store numeric characters or special symbols in 
MS-Access?

-3_ 		Pd=P;= PS;];df 6]ansf]] structure nfO{ modify ug{ s'g rflxF view sf] k|of]u ul/G5 
<

	 Which view is used to modify a table in MS-Access?

-ª_ 	df]8\o'n/ k|f]u|fldª eg]sf] s] xf] < 			 

   	 What is Modular Programming?
-r_ 	C language s'g} b'O{cf]6f ljz]iftf n]Vg'xf];\ .  	
	 Write any two features of C language.
@= 	 pko'St k|fljlws zAb n]Vg'xf];\ M		  -@×!Ö @_

     	 Write appropriate technical term for the following:			 
-s_ 	;fOa/ :k];;DaGwL sfg'gL k|lqmof 	
         Law that governs the legal issues of cyberspace.	
-v_ 	 SjfG6d sDKo'6/sf] ;"rgfsf] ;a}eGbf ;fgf] PsfOsf] ¿k 
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	  The smallest unit to represent information on quantum compute.
#= 	 k"/f ¿k n]Vg'xf];\ M	 -@×!Ö @_
	 Write the full form of the following:

I.	 STP
II.	 WAP

;d"x v Group ‘B' 

$= 	tnsf k|Zgx¿sf] 5f]6f] pQ/ lbg'xf];\ M 		  (×@Ö!*

Answer the following questions:		
-s_ 	sDKo'6/ g]6js{ eg]sf] s] xf] < o;sf s'g} b'O{cf]6f kmfObfx¿ pNn]v ug'{xf];\ .

	 What is computer network?  Enlist any two advantages of it.
-v_ 	sDKo'6/ g}ltstf eg]sf] s] xf] < o;sf s'g} b'O{ gLltx¿ n]Vg'xf];\ .
	 What is computer ethics?  Write any two of them.
-u_ 	;ˆ6j]o/ ;'/Iff eg]sf] s] xf] < xf8{j]/ ;'/Iffsf s'g} b'O{ pkfox¿ n]Vg'xf];\ .  

What is software security?  Write any two measures of hardware security.

-3_ 	Pd sd;{ eg]sf] s] xf] < o;sf b'O{ dxŒjk"0f{ ;]jfx¿ n]Vg'xf];\ .
	 What is m-Commerce?  Write its two important services.
-ª_	 OG6/g]6 ckm lyª\; (IoT)  eg]sf] s] xf] < o;sf s'g} b'O{ dxŒjx¿ n]Vg'xf];\ .

	 What is IoT? Write any two importance of it.
-r_ 	8f6fa]; eg]sf] s] xf] < s'g} b'O{cf]6f pbfx/0f lbg'xf];\ .
     	 What is database ? Give any two examples.
-5_ 	k|fOd/L sL eg]sf] s] xf] < o;sf s'g} b'O{cf]6f kmfObfx¿ pNn]v ug'{xf];\ . 
     	 What is primary key? List any two advantages of it.
-h_ 	8f6f ;l6{ª eg]sf] s] xf] < o;sf] k|of]uaf6 x'g] s'g} b'O{cf]6f  kmfObfx¿ pNn]v ug'{xf];\ .
     	 What is data sorting? List any two advantages of using it.
-em_ 	s:tf] sfo{ ug{ PS;];df Sj]/L / kmd{ cAh]S6sf] k|of]u ul/G5 <
     	 What types of work is done in MS-Access using Form and query object?
%.	 tn lbOPsf] k|f]u|fdsf] cfp6k'6 n]Vg'xf];\ . Dry run 6]andf b]vfpg'xf];\ .			   -@_
	 Write down the output of the given program. Show with dry run in table.
	 DECLARE SUB SHOW (A)
	 CLS



23ljlzi6Ls/0f tflnsf

	 N = 87
	 CALL SHOW (N)
	 END
	 SUB SHOW (A)
	 DO
	 B = A MOD 6 + 3
	 IF B MOD 4 = 0 THEN GOTO AA
	 PRINT B;
	 AA:
	 A = A - 10
	 LOOP WHILE A >= 50
	 END SUB
^= 	 tn lbOPsf] k|f]u|fddf /x]sf uNtLx¿nfO{ ;RofP/ k'gM n]Vg'xf];\ M 		  -@_
	 Re-write the given program after correcting the bugs:
	 REM to add record in an existing file 
	 CLS
	 OPEN “Record.Dat” FOR OUTPUT AS #1
	 AA:
	 INPUT “Enter Name, Class and  Roll No. “; Nm$, Cl, Rn
	 INPUT #2, Nm$, Cl, Rn
	 INPUT “More records “; Y$
	 IF UCASE$(Y$) = “Y” THEN GOTO aa
	 CLOSE “Rrecord.dat”
	 END
&= 	 tn lbOPsf] k|f]u|fdnfO{ cWoog u/L lbOPsf k|Zgx¿sf] pQ/ n]Vg'xf];\ M 		  -@×!Ö @_
	 Study the following program and answer the given questions:	
	 OPEN “Detail.dat” FOR INPUT AS #1 
	 OPEN “Temp.dat” FOR OUTPUT AS #2 
	 INPUT “Enter name of the students “; Sn$ 
	 FOR I = 1 TO 10 
	 INPUT #1, Nm$, Cl, A 
	 IF Sn$ < > Nm$ THEN 
	 WRITE #2, Nm$, Cl, A 
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	 END IF 
	 NEXT I 
	 CLOSE #1, #2 
	 KILL “Detail.dat” 
	 NAME “Temp.dat” AS “Detail.dat” 
	 END
-s_ 	dfly lbOPsf] k|f]u|fdsf] d'Vo p2]Zo s] xf] <
	 What is the main objective of the program given above? 
-v_ 	olb “KILL” statement nfO{ k|f]u|fdaf6 x6fpg] xf] eg] dflysf] k|f]u|fddf s]xL ;d:of cfpF5 

ls cfpFb}g < sf/0f n]Vg'xf];\ . 

	 Do you get any problem in the above program if “Kill” statement is removed? 
Give reason.

;d"x u Group ‘C' 
*= 	 lgb{]zfcg';f/ ¿kfGt/ / lx;fa ug'{xf];\ M		  -$×!Ö $_
   	 Convert / calculate as per the instruction: 

i)	 (11001101)2 = (?)16

ii)	 (524)10 = (?) 2

iii)	 iii) (1010) 2 x (110) 2 – (1011) 2 = (?) 2

iv)	 iv) (10110) 2 ÷ (101) 2

(= 	 -s_ s'g} Pp6f sf]7fsf] nDafO{, rf}+8fO{ / prfO{ dfuL pQm sf]7fsf] If]qkmn / cfotg kQf 
nufpg] k|f]u|fd So'j]l;s efiffsf] k|of]u u/L n]Vg'xf];\ . If]qkmn u0fgf ug{ o'h/ l8kmfOG8 km+S;g 
/ cfotg u0fgf ug{ ;a k|f]u|fd agfpg' xf];\ . 			   -$_

	 Write a program in QBASIC that asks length, breadth and height of room and cal-
culates its area and volume. Create a user-defined function to calculate area and 
sub-program to calculate volume.	                    Hint: [A = LxB], [V = LxBxH]	

-v_  	 “Record.dat” eGg] sequential data file df Roll No., Name, Gender, English, 
Nepali, Maths / Computer field x¿df data e08f/ u/]/ /flvPsf] 5 . To; data file 
af6 Gender ‘F' x'g] / sDKo'6/ ljifodf cª\s () eGbf dfly ePsf ljBfyL{x¿sf] ;Dk"0f{ /]s8{ 
lk|G6 ug]{ k|f]u|fd n]Vg'xf];\ .			   -$_

	 A sequential data file called “Record.txt” has stored data under the field heading 
Roll No., Name, Gender, English, Nepali, Maths and Computer. Write a program 
to display all the information of those students whose gender is ‘F' and obtained 
marks in computer is more than 90.



25ljlzi6Ls/0f tflnsf

!)=	 s'g} Pp6f ;ª\Vof dfuL pSt ;ª\Vof hf]8 jf ljhf]8 s] xf], ;f] kQf nufpg] k|f]u|fd ;L Nofª\j]hdf 
n]Vg'xf]; .			   -$_

	 Write a program in C language that asks a number and check whether it is odd 
	 or even.	

cyjf 

	 l; Nofª\j]h sf] k|of]u u/L lbOPsf] cg's|dsf] of]ukmn ;lxt b]vfpg] k|f]u|fd n]Vg'xf];\ . 
1,2,3,4,….., bzf}+ kb;Dd .

	 Write a program in ‘C' language to display the series with their sum. 1,2,3,4,….., 
	 up to 10th terms.
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dfWolds lzIff k/LIff
gd'gf k|Zgkq

Subject: Optional Mathematics				    	

Fullmarks: 100							       Time: 3 hours 

					     ;d"x v Group ‘A'		  5 × (1 + 1) = 10

;a} k|Zgx¿ clgjfo{ 5g\ 
Attempt all the questions.
1.(a)  	 lqsf]0fldtLo kmngsf] kl/efiff n]Vg'xf];\ . 

	 Define trigonometric function.

   (b) 	 b'O{ ;ªVofx¿ a / b larsf] cª\sul0ftLo dWos slt x'G5 <
	 What is arithmetic mean between two numbers a and b.

2. (a)  	 cljlR5Gg ;ª\Vofx¿sf] ;d"xsf] gfd n]Vg'xf];\ . 

	 Write the name of the set of numbers which is continuous.

    (b) 	 olb d]l6«S; A =eP, |A| sf] dfg slt x'G5 <

	 If matrix A = what is the value of |A|?

3. (a) 	 olb b'O{ l;wf /]vfx¿sf larsf] sf]0f θ / em'sfj j|mdz\M m1 / m2 
eP tanθ sf] dfg 		

	 kQf nufpg] ;"q n]Vg'xf];\ .
	 If the angle between two straight lines is θ and their slopes are m1and m2 			 

	 respectively, write the formula to find the value of tanθ.

    (b)  	 Pp6f ;f]nLnfO{ ;dtnLo ;txn] cfwf/;Fu ;dfgfGt/ x'g] u/L k|ltR5]bg ubf{ s:tf] cfs[lt 	
	 aG5 < n]Vg'xf];\ .
	 Which geometric figure will be formed if a plane intersects a cone parallel to 		
	 its base? write it.

4.  (a)  	 Sin 2A nfO{ TanA sf] ¿kdf JoSt ug'{xf];\ . 

	 Express Sin2A in terms of TanA.

    (b) 	 pGgtf+z sf]0fsf] kl/efiff n]Vg'xf];\  . 

	 Define angle of elevation.

5.  (a)  	olb a ⃗ / b ⃗ larsf] sf]0f θ eP a ⃗ / b ⃗ sf] :s]n/ u'0fg s] x'G5 <
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	 What is the scalar product of two vectors a⃗and b⃗and  if the angle between them is θ?

     (b) 	 s]Gb|laGb' O / cw{Jof; r ePsf] j[Qdf s'g} OGe;{g :yfgfGt/0fdf P sf] k|ltlaDa P' eP 
OP, 	 OP' / r sf] ;DaGw n]Vg'xf];\.

	 In an inversion transformation if P' is image of P and r is radius of circle with centre 	

	 O, write the relation of OP,OP' and r.	

			   ;d"x v Group ‘B'     	 3× (2 + 2 +2) + 2 × (2 + 2) = 26

6. (a) 	 olb f(x) =  4x + 5 eP f -1(x) sf] dfg kQf nufpg'xf];\ .
Find f -1(x) if f(x) =  4x + 5.

    (b) 	 olb g(x) = 2x -1 / f (x) = 4x, eP gof(x) sf] dfg kQf nufpg'xf];\ .
If g(x) = 2x -1 and f (x) = 4x, find the value of gof(x).

    (c) 	 f(x) = x2 – 1 / f(x) = 3 k|ltR5]lbt x'g] laGb'x¿ kQf nufpg'xf];\ .
What will be the points of intersection of the curve f(x) = x2 - 1 and f(x) = 3.

7.  (a) 	 olb A = 2	 -1
3	 1( ) eP |A| kQfnufO{ A−1 kl/eflift x'G5, x'Fb}g n]Vg'xf];\ .

If A = 2	 -1
3	 1( ) , find |A| and write A−1 is defined or not.

     (b) 	 j|mfd/sf] lgodcg';f/ ax + by = c / px + qy = r df D1 / D2 sf] dfg kQf nufpg'xf];\ .
According to Cramer's rule, find the values of D1 and D2 for ax + by = c and px + qy = r.

8.  (a) 	 ;dLs/0fx¿ 3x + 4y + 5 = 0 / 6x + 8y + 7 = 0 ePsf /]vfx¿sf em'sfj kQf nufO{ tL 
/]vfx¿sf] ;DaGw n]Vg'xf];\ .
Find the slopes of two straight lines having equations 3x + 4y + 5 = 0 and 6x + 8y + 7 
= 0 and write the relationship between them.

     (b) 	 hf]8f /]vfx¿ 3x +2y = 0 / 2x -3y = 0 nfO{ hgfpg] Psn ;dLs/0f kQf nufpg'xf];\ .
Find the single equation for the pair of  lines represented by 3x +2y = 0 and 2x - 3y = 0.

9.  (a) 	 olb sin6A.cos4A nfO{ sine jf cosine sf] of]u jf cGt/df ¿kfGt/0f ug'{xf];\  . 
Convert sin6A.cos4A into sum or difference of sine or cosine.

    (b)	
Sin A

1+CosA nfO{ Tangent cg'kftsf] ckjt{ssf] ¿kdf k|:t't ug'{xf];\ .

Express Sin A
1+CosA in term of sub-multiple angle of Tangent.

     (c)	 olb 2Sin2θ = 3  eP θ sf] dfg kQf nufpg'xf];\ . ( 0°≤θ≤ 180° )

If 2 Sin2θ= 3 , find value of θ. (0°≤θ≤ 180°)

10. (a) 	olb |a|⃗=2  , |b⃗|= 12 / a⃗.b⃗ eP e]S6/x¿ a⃗/ b⃗ larsf] sf]0f kQf nufpg'xf];\ .
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Find the angle between vectors a⃗and b⃗ and if , |a|⃗=2  , |b⃗|= 12 and a⃗.b⃗

    (b) 	 lbOPsf] lrqdf AP⃗ kQf nufO{ p⃗ nfO{ a⃗ / b⃗ sf ¿kdf JoSt ug'{xf];\.

In the given figure,find  AP⃗and express p⃗ in terms of a⃗ and b⃗.
 

    (c)  	 s'g} tYofª\ssf] :t/Lo leGgtf 0.25 eP ljr/0fzLntf kQf nufpg'xf];\ .
		  If the standard deviation of a set of data is 0.25, find its variance.

			   ;d"x u Group ‘C' 				    11× 4 = 44
11.	 xn ug'{xf];\ M 

	 Solve: x3− 3x2− 4x + 12 = 0

12.	 ;t{x¿ x – 2y ≤ 1, x + y ≤ 4, x ≥ 0, y ≥ 0 sf cfwf/df P = 5x + 4y sf] clwstd / Go"gtd 
dfg kQf nufpg'xf];\ . 

	 Optimize P = 5x + 4y under the constraints x – 2y ≤ 1, x + y ≤ 4, x ≥ 0, y ≥ 0

13. 	 jf:tljs kmng f(x) = 2x + 3 sf nflu
	 For a real valued function f(x) = 2x + 3

   (a)  	f(2.95), f(2.99), f(3.01), f(3.05) / f(3) sf dfgx¿ kQf nufpg'xf];\ M
	 Find the values of f(2.95), f(2.99), f(3.01), f(3.05) and f(3).

   (b)  	s] of] kmng x = 3 df cljlR5Gg x'G5 <
	 Is this function continuous at x = 3?

14. 	 d]l6«S; ljlwsf] k|of]u u/L tn lbOPsf ;dLs/0fx¿ xn ug'{xf];\ M
	 By using matrix method solve the following systems of equations:
	 3x + 5y = 11, 2x − 3y =  1

15. 	 pb\ud laGb'af6 hfg] / 2x2 − 5xy + 2y2 = 0 n] k|ltlglwTj ug]{ ;/n /]vfx¿;Fu nDa x'g] 
;/n /]vfx¿sf] Psn ;dLs/0f kQf nufpg'xf];\ M

	 Find the single equation to represent the equations of pair of straight lines passing 	
	 through the origin and perpendicular to the lines  represented by 2x2 − 5xy + 2y2 = 0 .

16.  	 dfg kQf nufpg'xf];\ . 

	 Find the value of:  sin 20° . sin 30° . sin 40° . sin 80°
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17. 	 olb A + B + C = πc  eP k|dfl0ft ug'{xf];\ M 

	 If A + B + C = πc, prove that: sin2 A − sin2B + sin2C = 2sinAcosBsinC

18 .	 Pp6f w/x/fsf] l7s cufl8 hldgsf] ;txdf /x]sf] s'g} Ps :yfgaf6 w/x/fsf] dfly 
78\ofOPsf] 6m  cUnf] Wjhb08sf]  6'Kkf] /  km]bsf pGgtf+z sf]0fx¿ j|mdzM 60° / 45° 
kfOof] . w/x/fsf] prfO / w/x/fsf] km]baf6 ;f] laGb';Ddsf] b'/L kQf nufpg'xf];\ . 

	 From a place at the ground level in front of a tower the angle of elevations of the top 
and bottom of flagstaff 6m high situated at the top of a tower are observed 60° and 
45° respectively. Find the height of the tower and the distance between the base of the 
tower and point of observation.

19. 	 PsfO ju{nfO{ ;dfgfGt/ rt'e{'h 







1100
1430

sf ¿kdf :yfgfGt/0f ug]{ 2×2 d]l6«S; 	
kQf nufpg'xf];\ .

Find the 2×2 matrix which transforms unit square to a parallelogram 







1100
1430

.

20. 	 lbOPsf] tYofª\ssf] dWosaf6 dWosleGgtf / o;sf] u'0ffª\s kQf nufpg'xf];\ .
Find the mean deviation and its coefficient from mean of the given data.

21. 	 lbOPsf] tYofª\saf6 :t/Lo leGgtf / ljr/0fzLntfsf] u'0ffª\s kQf nufpg'xf];\ .
Find the standard deviation and coefficient of variation from given data.

				  

				    ;d"x 3 ‘Group D' 				    4× 5 = 20
22.	 Pshgf 7]s]bf/n] s'g} sfd lglZrt ;do eGbf l9nf] u/]afkt klxnf] lbgsf] ?= 200, bf];|f] 	

lbgsf] ?= 250 ub}{ k|To]s kl5Nnf] lbgdf klxnf] lbgsf] eGbf ?= 50 a9L hl/jfgf ltg'{k5{ . 	
olb pSt 7]s]bf/n]  s'g} sfd 30 l bg l9nf  u/]df hDdf  slt hl/jfgf ltg'{knf{ < kQf 
nufpg'xf];\ <

k|fKtfª\s (Marks 
obtained)

0-10 10-20 20-30 30-40 40-50

ljBfyL{ ;ª\Vof(No. 
of students)

2 3 6 5 4

pd]/ (Age) 0-4 4-8 8-12 12-16 16-20 20-24

dflg;sf] ;ª\Vof 
(No. of Persons)

7 7 10 15 7 6
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	 A contract on construction job specifies a penalty for delay of completion beyond 
a certain date as follows: Rs 200 for the first day, Rs 250 for the second dayetc, 
the penalty for each succeeding day being Rs 50 more than for the preceding day. 
How much money the contractor has to pay as penalty, if he has delayed the work 
by 30 days? find it.

23. 	 Pp6f kfª\u|fsf] kl/lwdf /x]sf tLgcf]6f laGb'x¿  (5,7) , (−1,7)  / (5,-1) Pp6f lgZlrt 	
	 laGb'af6 a/fa/ 	b'/Ldf kb{5g\ . pSt lglZrt laGb'sf] lgb]{zfª\s kQf nufpg'xf];\ . ;fy} 	

	 pSt tLg laGb'x¿ kg]{ u/L laGb'ky kQf nufpg'xf];\ .
	 On the circumference of a wheel there are three points (5,7), (−1, 7) and 	

(5,−1) 	located such that the distance 	from a fixed point to these points is al-
ways equal. Find coordinates of the fixed point. Also, find equation represent-
ing the locus that contains all three points.

24. 	 e]S6/ ljlwsf] k|of]u u/L s'g} klg rt'e'{hsf] e'hfx¿sf dWolaGb'x¿ j|mdzM hf]8\b} hfFbf 	
	 aGg] rt'e{h ;dfgfGt/ rt'e'{h x'G5, egL k|dfl0ft ug'{xf];\ .
	 By using vector method, prove that the quadrilateral formed by joining the 	
	 midpoints of adjacent sides of a quadrilateral is a parallelogram?

25. 	 rt'e'{h ABCD sf zLif{laGb'sf lgb]{zfª\sx¿ A(1,1), B(2,3), C(4,2) / D(3, −2) 5g\ . 	
	 pSt rt'e'{hnfO{ pb\ud laGb'sf] jl/kl/ 180° df kl/j|md0f ug'{xf];\ . k|ltlaDa rt'e'{hnfO{ 	
	 y = −x df k/fjt{g ug'{xf];\ . dflysf b'O{ :yfgfGt/0fsf] ;+o'St :yfgfGt/0fnfO{ hgfpg] 	
	 :yfgfGt/0f n]Vg'xf];\ .
	 The coordinates of vertices of a quadrilateral ABCD are A(1,1), B(2,3), C(4, 2) and 	
	 D(3,−2). Rotate this quadrilateral about origin through180°. Reflect this image of 	
	 quadrilateral about y = 	 −x. Write the name of transformation which denotes the 		
	 combined transformation of above two 	 transformations.
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hg;ª\Vof lzIff
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k|Zgsf k|sf/x¿ ;f]lwg] ;ª\Vof ;do ljefhg k"0ff{ª\s

clt ;ª\lIfKt k|Zg !! !% ldg]6 !!

5f]6f] pQ/ cfpg] k|Zg * ! 306f !% ldg]6 $)

Nffdf] pQ/ cfpg] k|Zg # $% ldg]6 @$

hDdf @@ @ 306f !% ldg]6 &%
b|i6Jo M

;a} k|Zg clgjfo{ x'g] 5g\ t/ PsfO # / $ af6 5f]6f pQ/ cfpg] k|Zgdf Ps÷Ps / nfdf] pQ/ 
cfpg] k|Zgdf PsfO ^ af6 Ps ljsNk /xg] 5 .
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dfWolds lzIff k/LIff
gd'gf k|Zgkq

ljifo M hg;ª\Vof 

k"0ff{ª\s M &%                                           ;do M @ 3G6f !% ldg]6 

;d"x s Group  ‘A'

tnsf k|Zgsf] Ps jfSodf pQ/ lbg'xf];\ M	 	  -!!×! Ö !!_

Answer The following questions in one sentence.

!=	 hg;ª\VofnfO{ kl/eflift ug'{xf];\ . (K)
	 Define Population.

@=	 WHO sf cg';f/ lszf]/fjf:yf eGgfn] s'g pd]/ ;d"x xf] < (K)
	 According to WHO, what age group refers to adolescence?

#=	 a;fOF;/fOnfO{ k|efj kfg]{ s'g} Ps tŒj klxrfg ug'{xf];\ . (U)
	 Identify one of the factors that influence migration.	
$=	 xfd|f] ;dfhdf n}ª\lus ;dfgtf sfod /fVg] Ps pkfo klxrfg lbg'xf];\ .(A)
	 Identify a way to maintain gender equality in our society.
%=    cfsl:ds ue{ lg/f]ws rSsL s:tf] cj:yfdf k|of]u ug{ ;lsG5 <
	 In which situation, emergency contraceptive pills can be used?
^=	 k|fylds tYofª\ssf] s'g} Pp6f ;|f]t pNn]v ug'{xf];\ . hgu0fgf tYofª\ssf] s'g ;|f]tcGtu{t 

kb{5 . (U)
	 Specify one of the primary data sources. Under what source does the census 

fall?
&=	 afnljjfx /f]syfd ug{ tkfO{Fn] ckgfpg ;Sg] s'g} Pp6f ;'emfj n]Vg'xf];\ . (HA)
	 Write down one of the ways that  you can adopt to prevent child marriage.
*=	 kfl/jfl/s hLjg lzIffn] s;/L ;'vL hLjg agfpgdf ;xof]u ub{5 <
	 How family life education helps to build a happy life?
(=	 hLjgdf 36\g] k|d'v 36gf btf{ ug{ hgr]tgf hufpg] Pp6f gf/f n]Vg'xf];\ . (HA)
	 Write a slogan to raise awareness about registration of vital events in life.
!)=	 lbuf] ljsf;sf] cy{ atfpg'xf];\ . (K)
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	 Explain the meaning of sustainable development.
!!=	 hg;ª\Vof lzIffdf dWossf] k|of]u lsg ul/G5 < pNn]v ug'{xf];\ . (A)
	 Mention why median is used in population education?

cyjf

	 n}ª\lus d'2f eGgfn] s] a'em\g'x'G5 < g]kfndf n}ª\lustf;DaGwL d'2fsf] ;Daf]wg ug{ ePsf 	
	kxnx¿ rrf{ ug'{xf];\

	 What is Genter issues ? Mention the initiative steps done in Nepal to 
	   address the genter issues.

;d"x v Group ‘B'

tnsf k|Zgx¿sf] 5f]6f] pQ/ lbg'xf];\M				    *×%Ö$)_
Give short answer of the following questions.

!@=	 hg;ª\Vof kl/jt{gsf tŒjx¿ s] s] x'g\ < s'g} b'O{ cf]6fsf] 5f]6s/Ldf JofVof ug'{xf];\ . (K) 
	 What are the factors of population change? Explain any two of them in short.
!#=	 g]kfndf ue{ktg;DaGwL ;/sf/L gLltsf] 5f]6s/Ldf ljj]rgf ug'{xf];\ . (HA)
	 Discuss the government policy on abortion in Nepal.
!$=	 g]kfnsf] hg;ª\Vof ;g\ @))! / ;\g @)!! df j|mdzM @,#!,%!,$@# / @,^$,($,%)$ lyof] 

eg] k|jw{s j[l4b/ Pt= Po
ert  ljleGg k|of]u u/L ;g\ @)@! sf] hg;ª\Vof k|If]k0f ug'{xf];\ .

	 Population of Nepal in 2001 and 2011 was 2, 31, 51,423 and 2, 64, 94,504 
respectively. Use exponential growth rate (pt=po

ert) method for population 
projection of 2021 AD.

cyjf

	 hg;ª\Vof k|If]k0f eg]sf] s] xf] < o;sf] cfjZostf lsg kb{5 < k|If]k0fsf k|d'v ljlwx¿sf] gfd 
pNn]v ug'{xf];\ .  (A)

	 What is population projection? Why it is necessary mention the major methods of 
projection.

!%=	 tkfO{Fsf] ;dfhdf dlxnf ;zStLs/0fsf nflu s] s:tf k|of;x¿ eO/x]sf 5g\ < kfFr a'Fbfdf 
n]Vg'xf];\ .

	 In your society, what are the efforts for women empowerment? Enlist any five 
efforts.

!^=	 ue{ Joj:yfkgsf nflu ckgfOg] k|fs[lts ljlwsf] kfFrcf]6f kmfObfx¿ k|:6 kfg'{xf];\ . (U)
	 Explain any five benefits of using natural methods of contraceptive method.
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!&=	 kfl/jfl/s hLjg pRr agfpg tkfO{Fn] ug{ ;Sg] s'g} kfFrcf]6f k|of;x¿ pNn]v ug'{xf];\ . (HA)
	 Mention five steps you can take to improve family life.

!*=	 g]kfndf k~hLs/0f k|0ffnLnfO{ s;/L Jojl:yt ug{ ;lsG5 < s'g} kfFr a'Fbfdf ;'emfj lbg'xf];\ .  
(A)

	 How can the registration system be managed in Nepal? Suggest any five ways

!(=	 lbuf] ljsf; / hg;ª\Voflarsf] cGt/;DaGw JofVof ug'{xf];\ . (K)
	 Explain the correlation between sustainable development and population.

;d"x u Group ‘C'

tnsf k|Zgsf] nfdf] pQ/ lbg'xf];\ M					    #×*Ö@$

Give Long answer of the following questions

@)=	 g]kfnsf] kGw|f}+ of]hgfsf] hg;ª\Vofdf gLlt tyf sfo{j|mdx¿sf] nIo, p2]Zo / /0fgLltx¿ k|:t't 
ug'{xf];\ . (HA)

	 Present the goals, objectives and strategies of policies and programs to the pop-
ulation of the Fifteenth  Plan of Nepal.

@!=	 dlxnf k|hgg k|0ffnL;Fu ;DalGwt leqL cª\ux¿sf] sfo{sf] ;lrq JofVof ug'{xf];\ .

	 Explain the functions of the internal organs of  female reproductive system along 
with its figure.

or

	 afFemf]kgfsf] sf/0f, k|efj / Joj:yfkgsf pkfox¿sf] ;ª\lIfKt rrf{ ug'{xf];\ .  (U)
	 Briefly mention the causes, impact and management of infertility.

@@=	 tkfO{+sf] kl/jf/df Ho]i7 gful/sx¿sf] Joj:yfkg ug{ s:tf] e"ldsf lgjf{x ug'{x'G5 < s'g} 
rf/cf]6f a'Fbfdf j0f{g ug'{xf];\ . (A)

	 What role can you play to manage senior citizens in your family? Explain in any 
four points
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gful/s lzIff
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k|Zgsf k|sf/

qm=;+= k|Zgsf k|sf/ ;f]lwg]  k|Zg 
;ª\Vof

cª\sef/ ;do

!= clt 5f]6f] pQ/ cfpg] k|Zg !! !!x!Ö !! !% ldg]6

@= 5f]6f] pQ/ cfpg] k|Zg * *x% Ö $) ! 306f !% ldg]6

#= nfdf] pQ/ cfpg] k|Zg # #x* Ö @$ $% ldg]6

hDdf   @@ &% !#% ldg]6
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dfWolds lzIff k/LIff

gd'gf k|Zgkq

ljifoM gful/s lzIff	 	

k"0ff{ª\s M &%							       ;doM @ 306f !% ldg]6

;d"x s Group ‘A'

tnsf k|Zgx¿sf] Ps jfSodf pQ/ n]Vg'xf];\ M		 !! ×! Ö!!
Aanswer the following questions in one sentence                          
!= 	 gful/s eGgfn] tkfOF{ s] a'em\g'x'G5 < Ps jfSodf n]Vg'xf];\ . 
 	  What do you mean by citizen? Write in a sentence.
@= 	 dfgf}F, lad:6]s lzv/ ;Dd]ng g]kfndf cfof]hgf x'Fb} 5 . To; ;Dd]ngsf nflu Ps gf/f to 

ug'{xf];\ . 
	 Imagine, BIMSTEC Summit Conference is going to be held in Nepal, Prepare a 

slogan for it. 
#= 	 g]kfnsf] jt{dfg ;+ljwfgsf] k|efjsf/L sfof{Gjog ug{ tkfO{F s] e"ldsf lgaf{x ug{ ;Sg'x'G5 <
	 What role can you play for the effective execution of the present constitution of 

Nepal?
$= 	 ;ª\3Lo nf]stflGqs u0ftGqfTds zf;g Joj:yf eg]sf] s] xf] <
	 What is meant by Federal, Democratic, Republican State governance?
%= 	 :jtGq Gofokflnsfsf] dxŒj pNn]v ub{} Ps Kn]sf8{ tof/ kfg'{xf];\ .
	 Prepare a placard mentioning the importance of independent judiciary.
^= 	 ;f/jfg sfg'g eGgfn] s] a'‰g'x'G5 <
	 What is meant by substantive law?
&= 	 tkfO{Fsf] cfkm\gf] ufpFm 6f]ndf ePsf] ljjfb lg¿k0f ug{sf nflu ljjflbt kIfx¿nfO{ s'g 

lgsfodf hfg ;Nnfx lbg'x'G5 <
	 What agency do you recommend the conflicting parties to go for the resolution of 

the conflict that occurred in our village / tole ?
*= 	 tkfO{F hgdt ;ª\u|xaf/] ljleGg ;|f]tx¿ cWoog u/]sf] x'g'kb{5, pSt cWoogsf] cfwf/df 

hgdt ;ª\u|xaf6 k|fKt ePsf] /fhgLlts kl/jt{g n]Vg'xf];\ . 
	 You might have studied the different sources of Referendum, now present the 
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political achievement got from referendum on the basis of the study. 
(= 	 /fHo lgdf{0fsf s'g} b'O{ tŒjx¿ n]Vg'xf];\ .
	 Write any two elements of nation building. 
!)= 	tkfO{Fn] JolStut :jtGqtf kfpg'ePg eg] s] ug'{x'G5 < 
	 What would you do in case you don't get individual freedom<

!!= 	 g]kfndf bf];|f] hgcfGbf]ng slxn] ;'? ePsf] lyof] < k"/f ldlt n]Vg'xf];\ .
	 When was Second mass movement commenced? Write full date

;d"x v Group ‘B'

tnsf k|Zgsf] 5f]6f pQ/ n]Vg'xf];\	 M                          *×% Ö$)
Give Short answer of the following questions.
!@=	 tkfO{Fsf] ;d'bfodf a;f]af; u/]sf] s'g} JolStn] g}lts st{Ao kfngf gul//x]sf] cj:yfdf 

tkfO{F s] egL ;Demfpg'x'G5 < a'Fbfdf hjfkm lbg'xf];\ .
	 In what ways do you convince to a person of your community not following 

moral duties? Answer in points. 
!#= 	 /fHosf cª\ux¿lar zlSt lgoGq0f / ;Gt'ng s;/L sfod x'G5 < pbfx/0f;lxt k|:t't 

ug'{xf];\ . 
	 How is the power, check and balance maintained among the organs of the state? 

Present with examples.
!$= 	g]kfnsf] ;+ljwfgsf d'Vo ljz]iftfx¿ pNn]v ub}{ Ps b}lgs klqsfsf nflu ;DkfbsLo tof/ 

ug'{xf];\ . 
	 Prepare an editorial for a national daily mentioning the chief features of the 

constitution of Nepal.
 !%= 	tkfO{F Gofokflnsfsf] pRr cf]xf]bfdf /xg'eof] eg] Gofokflnsfsf] :jtGqtfnfO{ s;/L ;+/lIft 

ug{x'G5 < kfFrcf]6f a'Fbfdf n]Vg'xf];\ .  
	 How would you protect the essence of independent judiciary if you happen to 
	 hold the dignitary post of judiciary? Write in five points. 
	                                  cyjf

	 ;+;bLo zf;g k|0ffnL / cWoIffTds zf;g k|0ffnLaLrsf ;dfgtf / leGgtfx¿ tflnsf agfO{ 
k|:t't ug'{xf];\ . 

	 Present the similarities and defferences between Parliamentary and Presidential 
system of governments in a table. 

!^= 	hgdtsf dfWodx¿ s] s] x'g\ < ;"rL lgdf{0f ug'{xf];\ . 
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	 What are the mediums of public opinions? Make a list of them. 
!&= 	g]kfndf ;dfj]lztfsf] k|of]un] s] s:tf ;sf/fTds k|efjx¿ b]vf k/]sf 5g\ < tflnsf agfO{ 

k|:t't ug'{xf];\ . 
	 What positive impacts have been resulted due to application of inclusion in 

Nepal? Present it making a table.
!*= 	nf]stGq ;'b[9Ls/0fsf nflu /fhgLlts bnn] lsg g]t[TjbfoL e"ldsf lgjf{x ug'{kb{5 <
	 Why should the political parties play leadership role to strengthen democracy?
		  cyjf

	 æ/fhgLlts bnx¿ hgtf / ;/sf/ ljrsf ;]t' x'g\ .Æ s;/L < k|:6 kfg'{xf];\ . 
	 “Political parties are the bridge between people and government.” How ? Justify 

it.
!(= 	;fs{sf p2Zox¿ k|:t't ug{‘xf];\ .	
	 Present the objectives of SAARC.

;d"x u Group  ‘C'
tnsf k|Zgsf] nfdf] pQ/ lbg'xf];\ M 	                           #×*Ö@$
Give long answer of the following questions
@)= 	g]kfnsf] jt{dfg ;+lawfg / g]kfn clw/fHosf] ;+ljwfg, @)$& lar t'ngfTds cWoog 

ug'{xf];\ .
	 Make a comparative study between the present constitution of Nepal and the 

constitution of the kingdom of Nepal, 2047 B. S.
		  cyjf

	 g]kfnsf] ;+j}wflgs ljsf;s|daf/] ;ª\lIfKt rrf{ ug'{xf];\ .
	 Explain in frief about the constitutional development of Nepal.
@!= 	g]kfndf sfg'gL pkrf/df b]lvPsf ;d:ofx¿ / ltgsf] ;dfwfg ug]{ pkfox¿af/] rrf{ ub}{ 

b}lgs klqsfsf] nflu Ps n]v tof/ kfg'{xf]; .
	 Prepare an article fora newspaper daily explaining the problems and their solution 

inthe field of legal remedies in Nepal. 
@@= 	;+o'St /fi6« ;ª\3af/] tkfO{Fn] cWoog cg';Gwfg u/]sf] x'g'kb{5 . To;sf cfwf/ / lgDglnlvt 

pkzLif{sx¿sf] cfwf/df Ps 5f]6f] k|lta]bg tof/ kfg'{xf];\ . 
	 You might have studied or made research about the United Nations Organization. 

Now, prepare a short report on the basis of  thefollowing sub-headings.
	 -s_ kl/ro -Introduction_ 	 M -!_
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	 -v_ k|d'v p2]Zox¿ -Chief  Objectives_ 	 M -@_

	 -u_ jt{dfg ;dodf em]Ng' k/]sf ;d:ofx¿ M  -The problems faced in the  present time_ M -#_

	 -3_ lgisif{ / ;'emfa -Conclusion and suggestion_ M -@_
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kmf]6f]u|fkmL
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k|Zgsf k|sf/x¿

k|Zgsf k|sf/x¿ ;f]lwg] ;ª\Vof ;do ljefhg cª\sef/

clt 5f]6f] pQ/fTds k|Zg * !* ldg]6 *

5f]6f] pQ/ cfpg] k|Zg ^ #) ldg]6 !*

Nffdf] pQ/ cfpg] k|Zg # $@ ldg]6 @$

hDdf !& ! 306f #) ldg]6 %)
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dfWolds lzIff k/LIff 

gd'gf k|Zgkq

ljifo M kmf]6f]u|fkmL

k"0ff{ª\s M %)							       ;do M ! 306f #) ldg]6

;d"x s (Group ‘A')

tnsf k|Zgsf Ps jfSodf pQ/ lbg'xf];\ M 			   *×!Ö*
 Answer the following question in one sentence.			 

!=  	x\jfO6 Aofn]G; ;]l6ª eg]sf] s] xf] < 

	 What is White balance settings?
@=	 kmf]6f] kqsfl/tf eGgfn] s] a'lemG5 < 

	 What do you understand by photojournalism?
#=	 kmf]6f]u|fkmLsf cfwf/e"t tŒjx¿ s] s] x'g\ < 

	 What are the elements of Photography?
$= 	 cfOP;cf]sf] k"/f ¿k s] xf] < 

	 What is the full form of ISO?
%= 	 Pkfr{/ k|fcf]l/6L df]8 eGgfn] s] a'lemG5 < 
	 What do you  mean by Aperture priority mod?
^=	 kmf]sl;ª eg]sf] s] xf] < 

	 What do you mean by focusing?
&= 	 tl:a/df k|fOd]/L sG6]G6 eGgfn] s]nfO{ hgfpF5 <

	 What is primary content in photograph?
*=	 rdstf eg]sf] s] xf] < 

	 What do you mean by brightness in photographs?

;d"x v Group ‘B'

tnsf k|Zgsf] 5f]6f] pQ/ lbg'xf];\ M 					    ^×#Ö!*
Give short answer of the following questions				  
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(=	 Gofgf] / lr;f] /ªsf] km/s n]Vg'xf];\ . 
	 Write down the difference between warm and cool colour?
!)= 	;dfhdf kmf]6f]sf] cfjZostf / dxŒj s] 5 < 

	 What is the need and importance of the photo in society?
!!=	 rfndf /x]sf] s'g} j:t'sf] kmf]6f] lvRbf s] s] s'/fdf Wofg lbg'kb{5 < 

	 What are the things we consider while taking pictures of moving object?
!@= 	;6/ l:k8 eg]sf] s] xf] < 5f]6s/Ldf n]Vg'xf];\ .  

	 What do you mean by shutter speed write in short
!#= 	Dofg'cn kmf]s; / c6f] kmf]s;sf leGgtfx¿ n]Vg'xf];\ . 
	 Write the differences between manual focus and auto focus ?
!$=	 kmf]6f]u|fkmLdf ;+of]hgsf] s] e"ldsf /xG5 < 

	 What is the role of composition in photogrphy?

;d"x u (Group ‘C')

tnsf k|Zgsf] nfdf] pQ/ lbg'xf];\ M   				    #×*Ö@$
Give long answer of the following questions
!%= 	8]Ky ckm lkmN8 eg]sf] s] xf] < o;nfO{ c;/ kfg]{ sf/sx¿ ;lj:tf/ j0f{g ug'{xf];\ . 

	 What do you mean by depth of field? Write about the causes that affects it.
!^== 	Sofd]/f df]8 eg]sf] s] xf] < Dofg'cn ck/]l6ª l;:6ddf kmf]6f]u|fkmL ug]{ tl/sf ;lj:tf/ j0f{g 

ug'{xf];\ . 

	 What do you mean by camera mode? write the process of photography under 
manual operating system.

!&=	 Jofj;flos kmf]6f]u|fkmL eGgfn] s] a'lemG5 < j}jflxs kmf]6f]u|fkmL ug]]{n] Wofg lbg'kg]{ s'/fx¿ 
;lj:tf/ j0f{g ug'{xf];\ .  

	 What do you mean by commercial photography? Write down the things to be 
considered foron weeding photogrphy
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e"uf]n
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k|Zgsf k|sf/x¿

k|Zgsf k|sf/x¿ ;f]lwg] ;ª\Vof ;do ljefhg k"0ff{ª\s

clt ;ª\lIfKt k|Zg !! !% ldg]6 !!

5f]6f] pQ/ cfpg] k|Zg * ! 306f !% ldg]6 $)

Nffdf] pQ/ cfpg] k|Zg # $% ldg]6 @$

hDdf @@ @ 306f !% ldg]6 &%

b|i6Jo M

;a} k|Zg clgjfo{ x'g] 5g\ t/ PsfO @ / $ af6 5f]6f pQ/ cfpg] k|Zgdf Ps÷Ps / nfdf] pQ/ 
cfpg] k|Zgdf PsfO # af6 Ps ljsNk /xg] 5 .
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dfWolds lzIff k/LIff
gd'gf k|Zgkq

ljifo M e"uf]n

k"0ff{ª\s M &%  						      ;do M @ 3G6f !% ldg]6 

;d"x s (Group ‘A')

tnsf k|Zgx¿sf] clt 5f]6f] pQ/ lbg'xf];\ M	 		  !! ×! Ö!!

Give answer of the following questions in one sentence.

!= 	 e"uf]nnfO{ lsg ;dli6ut ljifo elgPsf] xf] <U

	 Why Geography is called holistic subject?

@=	 k[YjLsf] e"dWo/]vLo kl/lw slt 5 <K

	 What is equatorial circumstance of the Earth?
#= 	 Ps l8u|L cIff+zn] slt b'/LnfO{ k|ltlglwTj ub{5 <K

	 What is the distance represented by 1-degree latitude?
$= 	 cd]l/sfdf lsg PseGbf a9L k|fdfl0fs ;dosf] k|of]u ul/G5 <HA

	 Why does USA use more than one standrd time?
%= 	 ;drfk /]vf eg]sf] s] xf] <K

	 What do you mean by isobar?

^= 	 jfo' lsg axG5 < U

	 Why does wind blow?
&= 	 g]kfndf hDdf sltcf]6f :yfgLo tx 5g\ <K

	 How many Local Governments are in Nepal?
*= 	 g]kfndf t];|f] :t/sf gbLx¿nfO{ c:yfoL gbL elgG5 . lsg <U

	 The third grade rivers are called temporary rivers in Nepal why?
(= 	 cfGtl/s a;fOF;/fO eg]sf] s] xf] <K

	 What do you mean by migration?
!)= 	s'n ufx{:y pTkfbgsf] 5f]6f] kl/efiff lbg'xf];\ .K

	 Give short definition of Gross National prouct.
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!!= 	km/]gxfO6 PsfOdf kfgL slt l8u|Ldf hD5 <K

	 In which point the water freezes in Fahrenheit unit.
					   

;d"x s Group ‘B'
tnsf k|Zgx¿sf] 5f]6f] pQ/ lbg'xf];\ M			     *×% Ö$)

Give short answer of the following questions. 

!@= 	Ct' kl/jt{g s;/L x'G5 < ;lrq k|:t't ug'{xf];\ . U

	 How do seasons change?  Explain with picture. 

					     cyjf

	 pmi0f / ;dzLtf]i0f tfksf k]6Lx¿sf] leGgtf pNn]v ug'{xf];\ .

	 Mention the diffrence between tropical and subtropical tempetate zone.

!#= 	olb &) l8u|L klZrdsf] Go'of]s{ ;x/df laxfgsf] ( aHbf Tolt g} a]nf *% l8u|L k"j{df /x]sf] 

sf7df8f}Fdf slt ah]sf] xf]nf < A÷Pr

	 If the longitude of New York is 70º west and time is 9 AM, then what is the time

	  of Kathmandu 85ºEast longitude at the same time?

!$= 	gbLsf] IfoLs/0f, kl/jxg / lgIf]k0f sfo{sf] 5f]6f] kl/ro lbg'xf];\ . K

	 Give short introduction of the functions of river like erosion, transportation and 
deposition.

!%= 	e"sDk cfkm}Fn]  dflg; dfb}{g . dflg; cfkm\g} sf/0fn] hf]lvddf kb{5 . o; egfOnfO{ k'li6 ub}{ 

e"sDkaf6 ;'/lIft x'g] rf/ pkfox¿ pNn]v ug'{xf];\ . HA

	 Earthquake does not kill human but human falls in risk during earthquake because

	 of their activities. Justify this statement and mention any four-safety measures 

	 to be safe from earthquake. 

!^= 	ljZjsf jfo'sf rfk k]6Lx¿sf] gfd n]vL s'g} b'O{ rfk k]6Lx¿sf] lgdf{0f s;/L x'G5 n]Vg'xf];\ . 

	 Write the name of air pressure belts of the Earth and explain the process of any 
two-pressure belts. 
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!&= 	g]kfndf kfOg] 5cf]6f vlgh kbfy{sf] gfd n]vL s'g} Pssf] kl/ro lbg'xf];\ . K

	 Write the name of any six minerals found in Nepal and give introduction of any 
one. 

!*= tkfOF{ a:g] If]qsf] w/ftnLo :j¿ksf] pNn]v u/L pSt w/ftnLo :j¿kn] ToxfFsf] xfjfkfgL, 
jg:klt / hghLjgdf s:tf] k|efj k/]sf] 5 pNn]v ug'{xf];\ . A÷Pr

	 Mention the Geographical region where you reside and mention the affects of 
the region in climate, vegetation, and lifestyle.

!(= 	ef}uf]lns sf/0f lbg'xf];\ M  -@=%±@=%_ HA

	 Give Geographical regions. 

	 -s_ k|foM ;x/x¿ gbL lsgf/f / ;dy/ hldgdf ljsf; ePsf 5g\ . 

	 Generally,most of the cities are developed in the riverbanks and plain land. 

	 -v_ g]kfnsf] t/fO{nfO{ cGgsf] e08f/ elgG5 . 

	 Tarai regionis called granary of Nepal. 

						      cyjf

	 dflg; / k|s[lt;Fusf] Pscsf{sf] cGt/;DaGwsf] pbfx/0f;lxt ljZn]if0f ug'{xf];\ .
	 Analyze the relation between the human and nature with examples.

;d"x u Goup ‘C'
tnsf k|Zgx¿sf] nfdf] pQ/ lbg'xf];\ M			   #×* Ö @$

Give long answers of the following questions.		
@)= 	ljsf;sf k"jf{wf/x¿sf] ljsf; geO{ cGo ljsf;sf sfo{x¿ cl3 a9\g ;Sb}g\ . o; egfOnfO{ 

k'li6 ub}{ g]kfndf ljsf;sf k"jf{wf/x¿sf] tLj| ljsf; ug]{ kfFr pkfox¿ k|:t't ug'{xf];\ . U

	  Any kinds of development are impossible without the development of
	  infrastructure. Justify this statement and present any five measures for rapid 
	  development of infrastructures. 

						      cyjf

	 k|fs[lts ;+;fwgn] dfgj hLjg / cfly{s If]qdf kfg]{ k|efj pNn]v ug'{xf];\ .
	 Mention the impact of natural resource on human life and economic sectors.
@!= 	ljZjdf ;a} b]zx¿ cfly{s¿kn] cufl8 5}gg\ . o;f] x'g'sf rf/ sf/0fx¿ pNn]v ub}{ ljZjsf 
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;a} /fi6«x¿nfO{ ljsl;t agfpg] rf/ pkfox¿ n]Vg'xf];\ . HA

	 All nations are not economically forward equally in the world. Mention any four 
reasons of this situation and write any four ways to develop the nations.  

@@= 	;fdfGo cfsf/k|sf/ ldnfO{ g]kfnsf] gS;f tof/ ug'{xf];\ / pko'St ;ª\s]t k|of]u u/L tnsf 
tYox¿ eg'{xf];\ . A÷Pr

	 Draw a map of Nepal with general shape and insert the following geographical facts. 
	 clk lxdfn, aaO{ gbL, uf]vf{, sf7df8f}F lghu9 b|'tdfu{, h'6 pTkfbg If]q 

	 Mount Api, River Babai, Gorakha, Kathmandu Nijgadh Fast Track, Jut Culti-
vation area.



58ljlzi6Ls/0f tflnsf

n]vf k/LIf0f
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k|Zgsf k|sf/x¿ ;f]lwg] ;ª\Vof ;do ljefhg k"0ff{ª\s

clt ;ª\lIfKt k|Zg !! !% ldg]6 !!
5f]6f] pQ/ cfpg] k|Zg * ! 306f !% ldg]6 $)
Nffdf] pQ/ cfpg] k|Zg # $% ldg]6 @$
hDdf @@ @ 306f !% ldg]6 &%
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dfWolds lzIff k/LIff 

gd'gf k|Zgkq

ljifo M n]vfk/LIf0f 
k"0ff{ª\s M &%							       ;doM @ 3G6f !% ldg]6 	
				    ;d"x s Group ‘A'	 			 

tnsf k|Zgx¿sf] Ps jfSodf pQ/ lbg'xf];\ M	 	 ! × !! Ö!!
Give answer of the following question in one sentence. 
!=	 a}ª\s clwljsif{ eGgfn] s] a'lemG5 <
	 What do you understand by bank overdraft ?
@=	 clGtd vftf tof/ ubf{ ;dfof]hgdf lbOPsf] clGtd df}HbftnfO{ s'g s'g zLif{sdf k|ljli6  

ul/G5 <
	 In what topics; closing stock is recorded while preparing final account when it 

is given in adjustment?
#= 	 g]kfn /fi6« a}ª\s s'g lsl;dsf] a}ª\s xf] <
	 What type of bank is Nepal Rastra Bank ?
$= 	 ladf eGgfn] s] a'lemG5 <
	 What do you understand by Insurance?
%= 	 /sdfGt/ eg]sf] s] xf] <
	 What is budget transfer?
^ 	 c;f]h dlxgfsf] s'n tna ?=##,))).– df sd{rf/L ;~rosf]if afkt ?=^,))).– s6\6L u/L 

tna e'QfgL ubf{sf] uf]:jf/f ef}r/ tof/ ug'{xf];\ . 
	 Prepare journal voucher of total salaries of Rs. 33,000; Out of which Rs. 6,000 

was deducted for provident fund.
&= 	 ;/sf/L] n]vfk/LIf0fsf s'g} rf/cf]6f p2]Zox¿ ;"rLs[t ug'{xf];\ .
	 List out any four objectives of government audit ?
*= 	 dxfn]vf k/LIfs sfof{nosf s'g} rf/cf]6f sfd, st{Jo / clwsf/x¿ ;"rLs[t ug'{xf];\ .
	 List out any four rights and duties of Auditor General? 
(= 	 cf;fdLaf6 k|fKt /sdsf] ef}r/ k/LIf0f s;/L ul/G5 <
	 How do you vouching for the amount received from debtors?
!)= 	s'g cj:yfdf n]vfk/LIfsn] gsf/fTds n]vfk/LIf0f k|ltj]bg tof/ ub{5 <
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	 In what situation; auditor prepares adverse audit report?
!!= 	 n]vfk/LIf0f dfgb08cGtu{t ;fdfGo dfgb08leq kg{] dfgb08x¿dWo] s'g} rf/ dfgb08x¿ 

;"rLs[t ug'{x]f;\ .
	 List out any four general audit standards? 

;d"x v Group ‘B'
tnsf k|Zgsf] 5f]6f] pQ/ lbg'xf];\ M 			   *× %Ö$)
Give Short answer of the following questions.
!@= 	cNkmf la6f Joj;fosf] #) cfiff9 @)&) ;fnsf] ;Gt'ng k/LIf0fsf] cfwf/df Jofkf/ vftf / 

gfkmf gf]S;fg vftf tof/ ug'{xf];\ . 
	 Prepare Trading account & Profit and Loss account on basis of trial balance on 
	 30th Ashadh 2070 of Alfa Beta Business.

ljj/0f 
Particulars

vf=kf=g+= 
LF

8]la6 -/sd_ 
Debit 
Rs.

s|]|l86 -/sd_
Credit Rs.

;'? df}Hbft Opening  Balance
vl/b Purchase
OGwg Fuel
Hofnf Wages
:6];g/L Stationery
las|L Sales
Aofh k|flKt Interest Received
lj1fkg vr{ Advertisement
x|f; s6\6L Depreciation
las|L lkmtf{ Sales Return
vl/b lkmtf{ Purchase Return
l:y/ ;DklQ Fixed Assets
k'FhL Capital
v/fa C0f Bad Debt

@),)))

%!,)))

!%,)))

@%,)))

*,)))

!@,)))

&,)))

%,)))

!,)),)))

$,)))

!,@),)))

!),)))

@,)))

!,!%,)))

s'n Total @,$&,))) @,$&,)))
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!#= 	 jfl0fHo a}ª\s eGgfn] s] a'lemG5 < o;sf s'g} tLgcf]6f d'Vo sfo{x¿ JofVof ug'{xf];\ .
	 What do you understand by commercial bank? Write any three functions of 
	 commercial bank.
				    cyjf

	 ;fgf] gubL sf]if eGgfn] s] a'lemG5 < pbfx/0f;lxt AofVof ug'{xf];\ .
	 What do you understand by commercial bank? Write any three functions of 

commercial bank . 
!$=  lhNnf lgjf{rg sfof{no, eStk'/sf lgDglnlvt sf/f]af/x¿sf] cfwf/df uf]:jf/f ef}r/ tof/ 

kfg'{xf];\ .  
	 Prepare journal voucher of District Election Office of Bhaktapur from the 

following transactions.
	 r}q !M zf=c= xl/ >]i7nfO{ ?= @%,))).– sf] r]s kmlg{r/ vl/b ug{sf nflu k]:sL :j¿k 

hf/L ul/of] . 
	 Chaitra 1: Cheque of Rs. 25,000 as an advance issued to section officer Hari 

Shrestha to purchase furniture. 
	 r}q ^M ut dlxgfsf] 3/ef8f jfkt ?= !),))).– r]saf6 e'StfgL ul/of] . 
	 Chaitra 6 : Cheque of Rs. 10,000 issued for the rent of last month.
	 r}q !%M ?= %,))).– /sdsf] ;fgf] gubL sf]if :yfkgf ul/of] .
	 Chaitra 15 : Petty cash fund was established of Rs.5,000.
	 r}q @@M zf=c= xl/ >]i7n] k]; u/]sf] ?= @@,))).– sf] kmlg{r/ vl/b lan / ?= #,)))–. 

sf] gub hDdf u/]sf] a}ª\s ef}r/sf] cfwf/df lghsf] k]:sL km5\of}{6 ul/of] .
	 Chaitra 22 : The advance of furniture purchase was cleared by section officer 

Hari Shrestha by submitting purchase bill of furniture  Rs. 22,000 and cash 
deposit slip Rs.3,000.

	 r}q @*M d;nGb ;fdu|L vl/b afkt ?= #,))).– e'StfgL ul/of] .
	 Chaitra 28 : Payment made for stationery purchase of Rs.3,000.
!%= 	;/sf/L n]vfk/LIf0f eg]sf] s] xf] < o;sf s'g} tLgcf]6f dxŒj af/] pNn]v ug'{xf];\ . 
	 What is government audit? Write any three importance of government audit.
					     cyjf

	 g]kfndf ;/sf/L n]vfk/LIf0fsf] ljsf;af/] 5f]6s/Ldf pNn]v ug'{xf];\ .
	 State briefly about development of gevernment audit in Nepal.
!^= 	dxfn]vf lgoGq0f sfof{nosf] kl/ro lbFb} o;sf s'g} tLgcf]6f sfd, st{Jo / clwsf/x¿ 
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JofVof ug'{xf];\ . 
	 Define Financial Comptroller General Office and explain any three rights and 

duties of Financial Comptroller General Office.
!&=  	n]vfk/LIf0f sfo{df ef}r/ k/LIf0fsf] e"ldsfaf/] ljZn]if0f ug'{xf];\ .
	 Explain the role of vouching in audit work.
!*= 	dxfn]vf k/LIfssf] sfof{noaf6 nfu" ePsf] n]vfk/LIf0f dfgb08x¿af/] aofg ug'{xf];\ . 

Expain audit standards issued by auditor General?
!(= 	lhNnf s[lif ljsf; sfof{no, sf7df8f}+sf] lgDglnlvt sf/f]af/x¿nfO{ a}ª\s gubL lstfadf

	 k|ljli6 ug'{xf];\ . 

	 Prepare Bank Cash Book from the following transactions of District Agriculture 
Development Office, Kathmandu.

	 cfiff9 ! M a}ª\s df}Gbft ?= !!,)),))).–
	 Ashadh 1 : Bank Balance of Rs. 11,00,000.
	 cfiff9 * M lhNnf k|zf;g sfof{noaf6 ?= #,)),))).– ;fk6L k|fKt eof] .
	 Ashadh 8 : Loan  of Rs.3,00,000 received from District Administration Office.
	 cfiff9 !% M df]6/ ;fOsn vl/b jfkt ? %,)),))).– sf] r]s hf/L ul/of] .
	 Ashadh 15 : Cheque  of Rs. 5,00,000 issued to purchase motorcycle.
	 cfiff9 @@ M gf=;'= xl/ dfgGw/nfO{ ;f]kmf ;]6 vl/b ug{ ? $),))).– k]:sL e'StfgL ul/of] 

.
	 Ashadh 22 : Advance paid Rs. 40,000 to Na.Su. Hari Manandhar to purchase 

Sofa Set
	 cfiff9 #) M 7]s]bf/ zdf{nfO{ ? !*,))).– / 7]s]bf/ s'Fj/nfO{ ? !&,))).– w/f}6L /sd 

lkmtf{ ul/of] .
	 Ashadh 30 : Amount of security deposit returned to contractor Sharma Rs. 

18,000 and contractor Kunwar Rs. 17,000.
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;d"x u Group ‘C'
tnsf k|Zgsf] nfdf] pQ/ lbg'xf];\ M					    *× #Ö@$
Give long answer of the following questions. 
@)= 	ef}r/ k/LIf0f eGgfn] s] a'lemG5 < gubL lstfasf] k|flKt kIfsf] ef}r/ k/LIf0f af/] k|sfz 

kfg'{xf];\ . 

	 What do you understand by vouching?  Explain the vouching of receipts side of 
cash book.

					     cyjf

	 ef}r/ eGgfn] s] a'lemG5 < lgDglnlvt sf/f]af/x¿sf] ef}r/ k/LIf0f tkfO{+ s;/L ug'{x'G5 <

	 -s_ C0fdf Aofh

	 -v_ las|Lsf nflu 7]Ssfdf k7fOPsf] ;fdfg

	 What do you understand by voucher ? How would you vouch the following 
transactions.

	 (i) Interest on loan
	 (ii) Goods sent on consignment
@!= 	n]vfk/LIf0f k|ltj]bg tof/ ubf{ ;dfj]z ug'{kg{] cfjZos tŒjx¿af/] ljZn]if0f ug'{xf];\ . 
	 Expain the important factors that should be considered while preparing audit 

report.
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@@= 	lgGglnlvt ;Gt'ng k/LIf0f / ;dfof]hgsf cfwf/df r}q d;fGt @)&% df cf/ Pg OG6/k|fOh]h 
sf] Jofkf/ vftf, gfkmf gf]S;fg vftf / jf;nft tof/ ug'{xf];\ . 

	 Prepare Trading account, Profit and loss account and Balance sheet on the basis 
of trial balance and adjustments of RN enterprises.

ljj/0f  Particulars vf=kf=g+= LF 8]lj6 -/sd_ Debit 
Rs.

qm]l86 -/sd_ Cred-
it Rs.

;'? df}Hbft Opening Stock

vl/b Purchase

las|L lkmtf{ Sales Return

tna Salary

d]l;g tyf cf}hf/ Machinery And Equip-
ment

cf;fdL Debtor

Aofh vr{ Interest Expenses

kfpg afFsL cfDbfgL Income Receivable

Hofnf Wages

5'6 vr{ Discount Allowed 

n]vfk/LIf0f z'Ns Audit Fee

k'FhL Capital

;fx' Creditor

las|L Sales
sld;g cfDbfgL Commission Income

C0f Loan

k|fKt 5'6 Discount Received
vl/b lkmtf{ Purchase Return
ltg{ afFsL lan Bills Payable
a}ª\s cw{ljsif{ Bank Overdraft

!),)))

*%,)))

!%,)))

#),)))

&),)))

%))))

@))))

@%,)))

#),)))

#,)))

!),)))

!,)),)))

^),)))

!,)),)))

#%,)))

#),)))

#,)))

%,)))

%,)))

!),)))

s'n Total #,$*,))) #,$*,)))
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;dfof]hg 

Adjustment
clGtd df}Gbft ?= @),))) 

Closing Stock of Rs. 20,000.
d]l;g tyf cf}hf/df @)Ü x|f; s6\6L u/Lof] . 

Depreciation on Machinery and Equipment is 20%.
Hofnf ltg{ afFsL ?= !),))) 

Wages Payable of Rs.10,000.
clu|d tna e'StfgL ? %,))) 

Advance Salary paid of Rs.5,000.
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jftfj/0f lj1fg
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k|Zgsf k|sf/x¿

k|Zgsf k|sf/x¿ ;f]lwg] ;ª\Vof ;do ljefhg -ldg]6_ k"0ff{ª\s

clt ;ª\lIfKt k|Zg !! @) !!×! = !!

5f]6f] pQ/ cfpg] k|Zg * &@ *×% = $)

Nffdf] pQ/ cfpg] k|Zg # $# #×* = @$

hDdf @@ @ 3G6f !% ldg]6 &%

b|i6Jo M
;a} k|Zg clgjfo{ x'g] 5g\  . 

Nffdf] pQ/fTds k|ZgdWo] jftfj/0f k|b"if0f PsfOaf6 cyjf k|Zg (Or question) ;f]lwg] 5 .

5f]6f] pQ/fTds k|Zgx¿dWo] jftfj/0f / hg:jf:Yo tyf  kfl/l:ylts lj1fg / kfl/l:ylts 

k|0ffnL PsfOaf6 cyjf k|Zg (Or question_ ;f]lwg] 5 .
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dfWolds lzIff k/LIff
gd'gf k|Zgkq 

ljifo M jftfj/0f lj1fg                  

k"0ff{ª\s M &%                 				    ;do M @ 3G6f !% ldg]6

;d"x s Group ‘A'
Tfnsf k|Zgsf] clt 5f]6f] pQ/ lbg'xf];\ M  				    !× !!Ö!!
Write very short answers to the following questions. 
!= 	 :jR5 hnLo kfl/l:ylts k|0ffnLsf] b'O{cf]6f gfd n]Vg'xf];\ . 
	 Name two freshwater ecosystems.
@= 	 k/:yfgLo ;+/If0f eg]sf] s] xf] <  

	 What is an ex-situ conservation?
#= 	 h}ljs ljljwtf ;+/If0fsf] s'g} Ps dxŒj n]Vg'xf];\ . 

	 Write any one importance of biodiversity conservation.
$= 	 ljB'tLo kmf]xf]/ eg]sf] s] xf] < 

	 What is an electronic waste?
%= 	 Dffgj :jf:Yodf ljiffSt kmf]x/d}nfn] k'¥ofpg] s'g} Ps c;/ n]Vg'xf];\ .
	 Write one effect of hazardous waste on human health.
^= 	 /fli6«o cg's"ng sfo{j|mdsf s'g} b'O{cf]6f ljifout sfo{If]qx¿ pNn]v ug'{xf];\ . 
	 Name any two working area of the National Adaptation Programof Action. 
&= 	 hnjfo' ;dfg's"ngsf nflu /}yfg] 1fg / l;ksf] s'g} b'O{ k|of]u n]Vg'xf];\ . 
	 Write two applications regarding to indigenous knowledge and skills for climate 	

resilience.
*=  g]kfnsf] pmhf{If]qdf ;~rfngdf /x]sf s'g} b'O{ pmhf{ k|ljlwx¿sf] gfd n]Vg'xf];\ .
	 Write the name of any two technologies used in energy sector of Nepal.
(=  jftfj/0fd}qL sfo{:ynsf] nflu e]lG6n];g cfjZos kg'{sf] Pp6f sf/0f n]Vg'xf];\ .
	 Write any one cause of using the ventilation for eco-friendly work place.
!)=	 ljkt\ eg]sf] s] xf] < 

	 What is disaster?
!!= 	/fd;f/ ;"rLdf k/]sf g]kfnsf b'O{cf]6f l;d;f/x¿sf] gfd pNn]v ug'{xf];\ .
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	 Mention any two wetlands enlisted in Ramsar list.

;d"x v Group ‘B'
Tfnsf k|Zgsf] clt 5f]6f] pQ/ lbg'xf];\ M   		  *× %Ö $)
Write short answers to the following questions.

!@=	 jftfj/0fLo ;d:of pTkGg x'gsf s'g} kfFrcf]6f sf/0fx¿sf] 5f]6s/Ldf j0f{g ug'{xf];\ .
	 Describe briefly about any five causes of environmental causes.
!#= 	l;d;f/ kfl/l:ylts k|0fflnsf s'g} kfFr dxŒjx¿ 5f]6s/Ldf j0f{g ug'{xf];\ .
 	 Describe briefly about any five importance of wetland ecosystem.

cyjf

	 pmi0f jg kfl/l:ylts k|0ffnLsf s'g} ;d:ofx¿sf] 5f]6s/Ldf j0f{g ug'{xf];\ .
 	 Describe briefly about any five problems of tropical forest ecosystem.
!$= 	/}yfg] 1fg tyf l;kx¿sf] ;+/If0fn] ubf{ hnjfo' l;lh{t k|sf]kx¿af6 s;/L aRg ;lsG5 < 

pkfox¿ 5f]6s/Ldf j0f{g ug'{xf];\ .
	 How doesthe conservation of indigenous knowledge and skills prevent us from 

climate induced disasters? Describe preventive measures in brief.
!%=  5f]6f] l6Kk0fL n]Vg'xf];\ M 
	 Write short notes on;
	 -s_ afof]UofF; (Biogas) -v_ n3' hnljB't\ (micro hydropower)
!^= 	s[lif ljsf; / cf}Bf]lus If]qsf] lbuf] ljsf;sf nflu kfFrkfFrcf]6f jftfj/0fd}qL pkfox¿ 

pNn]v ug'{xf];\ .
	 Mentionfive/five environment friendly approaches for sustainable development 

of agriculture and industrial sector.
!&= 	xfd|f] /fi6«sf] bL3{sfnLg ljsf;sf nflu lbuf] ljsf;sf] cjwf/0ffnfO{ lsg Ps pQd ;+oGqsf 

¿kdf lnOPsf] 5 < s'g} kfFr ts{x¿ k|:t't ug{‘xf];\ . 
	 Why the concept of sustainable development is taken as one of the best instru-

ments for developing our country in long run? Present five logical points. 
!*= 	Jfftfj/0f / hg:jf:Yosf] cWoogkl5 tkfO{F cfkm\gf] :yfgLo ;d'bfosf] :jf:YonfO{ ;Gt'ngdf 

/fVg s] ug'{x'G5 < s'g} kfFr pkfox¿ klxrfg ug'{xf];\ .
	 After studying Environment and Public Health, how will you able to maintain 

the health of local people? Identify any five measures.
cyjf 
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Jfftfj/0f d}qL sfo{:yn ;'lglZrt ug{ s] ug'{knf{ < s'g} kfFr pkfox¿ klxrfg ug'{xf];\ .
	 What should be done to ensure environment friendly work place? Identify any 

five ways.
!(= 	ljkb\ x'g] sf/0fx¿nfO{ yfxf kfpFbf o;sf] ;xh tl/sfn] JoJf:yfkg ug{ ;lsG5 . ts{;lxt 

k|:6 kfg'{xf];\ .
	 “After knowing about the causes of disaster, it will be easy to manage it.” Clar-

ify with logic.

;d"x u ‘Group C'

Tfnsf k|Zgsf] nfdf] pQ/ lbg'xf];\ M   				    #× *Ö@$
Write Long answers to the following questions. 
@)= 	h}ljs ljljwtf ;+/If0fsf] nflu k/Dk/fut 1fg / l;ksf] k|of]u s;/L ug{ ;lsG5 < s'g} 

rf/cf]6f tl/sfx¿sf] JofVof ug'{xf];\ .
	 How does indigenous knowledge and skills be applied to conserve biodiversity? 

Explain any four ways.
@!=	 ljB'tLo ljiffSt kmf]xf]/n] jftfj/0fdf s:tf] c;/ k'¥ofpF5 < g]kfndf o; lsl;dsf] c;/af6 

aRg ;lsg] pkfox¿ ;DaGwdf ;'emfj lbg'xf];\ .
	 How does electronic hazardous waste affect the environment? Suggest pre-

ventive measures from this type of effect in Nepal.
cyjf

	 ljiffSt kmf]xf]/d}nfsf] Joj:yfkg tyf /]l8of]wdL{ k|b"if0f lgoGq0f ug]{ rf/ rf/cf]6f Jofjxfl/s 
pkfox¿ k|:t't ug'{xf];\ .

	 Present 4/4 behavioral ways to manage hazardous wastes and control radiation 
pollution.

@@= 	Jfftfj/0f ;+/If0fdf ePsf /fli6«o tyf cGt/f{li6«o k|of;x¿sf] 5f]6s/Ldf JofVof ug'{xf];\ .
	 Explain the national and international efforts for conservation of environment in 

brief.
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lj1fg
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ljlzi6Ls/0f tflnsf, @)&^

;}4flGts d"Nofª\sg

Subject:  Science (Optional)
Full Marks :  75                						      Time: 2.15 
Hours	
S.N. Area Topics K U A H.A Remarks

1 Physics 

1 Force 

5×1 4×2 2×3 1×4 23

2 Pressure
3 Energy
4 Heat
5 Light 
6 Electricity and magnetism

2
Chemistry

7 Atomic Structure

5×1 4×2 2×3 1×4 23

8 Periodic table and Periodic law
9 Chemical Bonding
10 Electro chemistry
11 Organic chemistry
12 Metallurgy

3
Biology 

13 Microbiology

5×1 4×2 2×3 1×4 23

14 Cytology
15 Living beings and life process
16 Evolution and Genetics
17 Ecology
18 Behavioral science

4 Geology & 
Astronomy 

19 Earth
20 Universe

Total questions 16 13 7 3 39
Total Marks 16 26 21 12 75

Note :
K = Knowledge
U = Comprehension/Understanding
A = Application 

	 H.A = Higher ability (Analysis, Evaluation and Creation)
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Secondary Education Exam
Model Question

Subject: Optional Science                                                                  
Time: 2 hrs. 15 minutes                  					     Full Marks: 75                                                                     
Candidates are required to show creativity in the answers wherever applicable. The 
figures in the margin indicates full marks.	

Group ‘A'                                                           
Answer the following questions in very short.			   16×1=16
a.	 State Hooke's law.
b.	 Write down any two gases which are primarily present in biogas.
c.	 State principle of calorimetry.
d.	 Define power of lens.
e.	 What is electromagnetic induction? 
f.	 Write down the value of Avogadro's number. 
g.	 Define Ionization potential. 
h.	 What is the value of ionic product of water(Kw) at 25 degree Celsius?
i.	 What are nucleophiles? 
j.	 Write two chief ores of aluminium. 
k.	 Which two monosaccharide do lactose contain? 
l.	 Which enzyme converts protein	 into peptones?
m.	 Write any two examples of sex linked diseases.
n.	 What is biogeochemical cycle? 
o.	 Name the organ that cannot be transplanted till now. 
p.	 Write any two examples of fossils preserved in Natural History Museum (NHM) 

of Nepal.	
Group ‘B'

Answer the Following questions in short.			   13×2=26
1.	 Write any two differences between centrifugal force and centripetal force.
2.	 A sewing needle placed carefully on the water floats even though its density is 

higher than the density of water. Why?  
3.	 Latent heat of vaporization of water is 22.5 x 105 joules per kg. What does it 

mean?
4.	 Distinguish between the nature of image formed by the eye lens and objectivel-
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ens of telescope.
5.	 Write any two differences between sigma and pi bonds. 
6.	 How can we reduce hyperacidity? Describe.
7.	 Which rules govern the given reactions? State the rules too.

CH3-CH2-CH2 –CH2-CHBr–CH3 → CH3-CH2-CH=CH-CH3
 (ii) CH3-CH=CH2  +  HBr →  CH3-CHBr-CH3

8.	 Write down the balanced chemical reaction of gold with aquaregia.
9.	 Why should athletes, labourers,	 etc. need high carbohydrate in their diet? 
10.	Compare monocot and dicot stem with any two points.
11.	“All hormones are chemical signals.” Give reason.
12.	Write short note on biological nitrogen fixation.
13.	The average half-life of radioactive carbon (6C

14) is 5735 years. What does it 
mean?

Group ‘C'
Answer the Following questions.				    7×3=21
14.	The mass of the Earth is 6.0 × 1024 kg and its radius is 6.4 x 106 m. Find the grav-

itational field intensity at a point on its surface. What is the weight of a body of 
mass 100 kg on its surface? (G = 6.67 x  10-11 Nm2/kg2)

15.	How is biogas produced? Explain with diagram.
16.	 Calculate the molecular mass of Ammonium carbonate and Calcium Carbonate.
17.	Explain the formation of sodium chloride molecule with the help of diagram.
18.	Draw the internal structure of monocot stem and label the parts hypodermis and 

metaxylem.
19.	Explain the process of determining blood group with diagram.
20.	How planetarium is formed the images of the stars?
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Group ‘D'
	 Answer the Following long question		  4×3=12
21.	 Wind up an insulated copper wire in the match 

box as shown in the figure. Connect two ends 
of the wire with a galvanometer and move a 
powerful bar magnet in and out of a match 
box very quickly.According to this activity 
answer the following questions.

i.	 On which principle does the above activity 
work?

ii.	 What happens in the needle of galvanometer when the magnet is inserted inside 
the match box? What happens in the needle of galvanometer when the magnet is 
taken out from the match box?

iii.	 At which conditions the needle of galvanometer comes in rest and deflects fast? 
22.	  Hydrogen can be placed in group IA along with the alkali metals and in group 

VIIA   along with the halogens. Justify its position with two points each.
23.	 A homozygous plant having round seed and inflated pods is first cross pollinate 

with a homozygous plant having wrinkled seed and constricted pods and then 
self pollinate. What result will be obtained in second generation? Show your 
result up to F2 generation indicating the phenotype and genotype ration in chart.
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lzIff



 
 
 

ljifoM :jf:Yo tyf zf/Ll/s lzIff 

ljlzi6Ls/0f tflnsf, @)&^ 

;}4flGts d"Nofª\sg 

k"0f{fª\sM %) ;doM ! 306f #) ldg]6 
 

PsfO If]q÷PsfO Kff7\oef/ 1fg Aff]w k|of]u pRr bIftf hDdf k|Zg 
clt 
5f]6f] 

5f]6f] nfdf] clt 
5f]6f] 

5f]6f] nfdf] clt 
5f]6f] 

5f]6f] nfdf] clt 
5f]6f] 

5f]6f] nfdf] clt 
5f]6f] 

5f]6f] nfdf] 

! स्वास्थ्य प्रवधर्न र मान�सक 
स्वास्थ्य  

10T !    !        ! !  

@ dfgj z/L/ ;+/rgf / ls|of lj1fg 15 T + 5 P !           ! !  ! 
# a[xt\ of}lgstf lzIff 15T !    !  !      @ !  

$ ljBfno :j:Yo ;]jf / 
समुदाय सहयोग  

10 T + 5 P    !    !  !   @ !  

% /f]u 15T       !     ! !  ! 
^ पोषण र  :j:Yo 10 T + 5 P       !    !  ! !  

& v]n lj1fg 10T  !  !         ! !  

* sjfh tyf zf/Ll/s Jofofd 10P                

( Pyn]l6S; 20P                

!) v]nx¿ 30P                

!! of]u 10 P                
 hDdf 85T + 85P # !  @ !  # !  ! ! @ ( % @ 
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k|Zgsf k|sf/x¿

k|Zgsf k|sf/x¿ ;f]lwg] ;ª\Vof ;do ljefhg k"0ff{ª\s

clt ;ª\lIfKt k|Zg ( !% ldg]6 (
5f]6f] pQ/ cfpg] k|Zg % $% ldg]6 @%
Nffdf] pQ/ cfpg] k|Zg @ @( ldg]6 !^
hDdf !^ ! 306f #) ldg]6 %)
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dfWolds lzIff k/LIff
gd'gf k|Zgkq

ljifo M :jf:Yo tyf zf/Ll/s lzIff		

k"0ff{ª\s M %)                                           ;do M ! 3G6f #) ldg]6 	
					     ;d"x s (Group ‘A')

tnsf k|Zgx¿sf] Ps jfSodf pQ/ lbg'xf];\ M			   !×(=(
Give very short answer of the following questions.
!= 	 JolStsf] :jf:YonfO{ k|jw{g ug]{ s'g} Pp6f tl/sf n]Vg'xf];\ .   

	 Write any one technique of promotion of individual health(U)
@= 	 lk6\o'6/L ulGyn] pTkfbg ug]{ s'g} Pp6f xdf]{gsf] gfd pNn]v ug'{‘xf];\ .  

	 Mention any one hormone produced by pituitary gland?(K)
#= 	 lduf{}nf :j:y /fVg] d'Vo pkfo kQf nufpg'xf];\ .  

	 Identify the main preventive measure to keep kidneys healthy?(A)
$= 	 c;'/lIft of}gJojxf/sf] s'g} Pp6f pbfx/0f pNn]v ug'{xf];\ .

	 Write any one example of unsafe sexual behavior.(K)
%= 	 of}lgstf lzIffsf] s'g} Pp6f dxŒj n]Vg'xf];\ .

	 Write any one importance of sexuality education.(U)
^= 	 :jf:Yok"0f{ ljBfno jftfj/0fsf] s'g} Pp6f If]qsf] gfd pNn]v ug'{xf];\ .  

    	 Illustrate the name of any one aspect of healthful school environment.(K)
&= 	 ljBfnodf ;d'bfosf] ;xof]u a9fpg ckgfpg] s'g} Pp6f pkfo n]Vg'xf];\ .  

	 Write any one technique to increase community help in schools(U)
*= 	 dw'd]x /f]u nfUg] k|d'v sf/0f n]Vg'xf];\ .   

	 Write main cause of diabetes (K)
(= 	 bd /f]uaf6aRg] s'g} Pp6f d'Vo pkfo kQf nufpg'xf];\ <   

	 Identify the main preventive measure of asthma (A)

;d"x v Group ‘B'
tnsf k|Zgx¿sf] 5f]6f] pQ/ lbg'xf];\ M          			  %×%=@%
Give short answer of the following questions.
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!)= 	:jf:Yo lzIffsf] dfWodaf6 dfgl;s :jf:Yo ;'wf/ ug{ ;lsg] s'g} kFfrcf]6f tl/sfx¿ 
agfpg'xf]; . 

	 Describe any five techniques to promote mental health through health edu-
cation(K)

!!= 	 s;/L a[xt\ of}lgstf lzIffsf dfWodaf6 of}glx+;fnfO x6fpg ;lsG5 < 

	 How can we prevent sexual violence through comprehensive sexuality education? (A)

!@= “;d'bfo ;xof]un] ljBfno :jf:Yo lzIff sfo{s|dnfO{ ;kmn kfg{ ;lsG5ˮ k'li6 ug'{xf];\ .    
	 “Can community cooperation help the success of school health programeˮ 

justify it. HA
!#= 	 d'6';Fu ;DjlGwt /f]ux¿ a9b} hfg'df jt{dfg ;fdflhs / dfgl;s kIf lhDd]jf/ 5g\ . 

o;sf sf/0fx¿ klxrfg ug'{xf];\  .  

	 Identify and describe social and mental factors related to heart diseases.(A)
						      cyjf

	 cj'{b /f]u  eg]sf] s] xf] < s'gs'g sf/0fn] of] /f]u nfUb5 / o;af6 aRgsf nflu s] s:tf  
pkfox¿ ckgfpg'kb{5 . 

	 What is cancer? what are its causes and what are the preventive measure for 
it.(A)

!$= 	v]n dgf]lj1fgsf] eg]sf] s] xf] < o;sf s'g} tLgcf]6f dxŒjx¿ n]Vg'xf]; . 

	 What is sports psychology? write down any three importance of it.(U)

;d"x u Group ‘C'
tnsf k|Zgx¿sf] nfdf] pQ/ lbg'xf];\ M                	 @×*=!^                   
Give long answer of the following questions.

!%=	 dlxnf k|hgg cª\usf] ;kmf lrq agfO{ o;sf efux¿sf] gfdfª\sg ug'{xf];\ / dlxnf k|hgg 
k|0ffnL :j:y /fVg] Jofjxfl/s tl/sf 5nkmn ug'{xf];\ . 

	 Skech the figure of female reproductive organ with labled diagram and discuss 
behevaurial techniques of keeping female reproductive organ healthy.(U)

					     cyjf

	 lduf}{nfsf] ;kmf lrq agfO{ o;sf efux¿sf] gfdª\sg ug'{xf];\ / lduf}{nf :j:y /fVg] tl/sf 
pbfx/0f;lxt JofVof ug'{xf];\ . 

 	 Skech the figure of kidney with labled diagram and discuss behevaurial tech-
niques of keeping kidney healthy.(U)
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!^=	 s'kf]if0fsf] cy{ atfpg'xf];\ . s'kf]if0faf6 ;'/lIft /xgsf nflu cfkm\gf] ;dfhdf pknJw 
vfg]s'/fx¿sf] dfWodaf6 ;Gt'lnt ef]hgsf] kof{Kttf jf ckof{Kttf ljZn]if0f ug'{xf];\ . 

	 Explain the meaning of mal-nutrition.Analysethe sufficiency or insufficiency of 
balanced diet on available foods for the prevention of malnutrition in your soci-
ety.(HA)



85ljlzi6Ls/0f tflnsf

lzIff
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dfWolds lzIff k/LIff

gd'gf k|Zgkq

ljifo M lzIff

k"0ff{ª\sM &%							       ;doM@ 3G6f !% ldg]6

;d"x s Group ‘A'
tnsf k|Zgx¿sf] clt 5f]6f] pQ/ lbg'xf];\ M               !! ×! =!!
Give very short answer to the following questions.		
!= 	 kqfrf/ lzIff eg]sf] s] xf] <

   	 What is correspondence education?

@= 	 cf}krfl/s / cgf}krfl/s lzIfflar s'g} Ps km/s n]Vg'xf];\ .

   	 Write any one difference between formal and Non-formal education.

#= 	 /f0ffsfndf ePsf s'g} b'O{ z}lIfs k|of;x¿ n]Vg'xf];\ .

	 Write any two educational efforts made in Rana Period.

$= 	 lzIf0f l;sfOdf kf7\oj|mdsf] k|of]u ug'{sf] d'Vo b'O{ sf/0fx¿ n]Vg'xf];\ .

	 Write two main causes of using curriculum for teaching learning.

%+ 	 lzIf0f ;fdu|Lsf] s'g} b'O{ dxŒj n]Vg'xf];\ .

   	 List out any two importance of teaching materials.

^= 	 c;n lzIfsdf x'g'kg]{ s'g} b'O{cf]6f k];fut u'0f n]Vg'xf];\ .

	 Mention any two professional qualities of a good teacher.

&= 	 lzIfsdf l;sfO k|lj|mofsf] 1fgsf] h?/t lsg kb{5 <

	 Why is learning process necessary for teacher?

*= 	 ufpF÷gu/ lzIff ;ldlt u7g x'g'sf] d'Vo sf/0f s] xf] <

	 What is the main cause of forming the Village/Metropolitan Education Com-
mittee?

(= 	 ;d'bfodf cfwfl/t ;+:yfn] lzIffsf] ljsf;df v]Ng] d'Vo e"ldsf n]Vg'xf];\ .
	 What is the main role of Community Based Organization in education develop-

ment?
!)= 	ljBfno If]q ljsf; of]hgf Nofpg'sf] d'Vo b'O{ sf/0fx¿ pNn]v ug'{xf];\ .
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	 Mention two main reasons for bringing the School Sector Development Plan.
!!= 	 cfwf/e"t tyf k|fylds lzIff sfo{j|md bf];|f]sf s'g} b'O{ p2]Zox¿ pNn]v ug'{xf];\ .
	 (Mention any two objectives of Basic and Primary Education Program-BPEP II)

;d"x v Group ‘B'

tnsf k|Zgsf] 5f]6f] pQ/ lbg'xf];\ M				   * × % = $)

Give short answer of the following questions.
!@= 	 lj=;+=@))& b]lv @)@& ;Ddsf] lzIffdf ePsf s'g} !) cf]6f k|of;x¿ pNn]v ug'{xf];\ .
	 Mention any ten efforts regarding the educational development from 2007 to 

2027.
!#= 	 kf7\oj|md / kf7\ok':tsljrsf] ;DaGwnfO{ k|d'v kfFr a'Fbfdf k|:6 kfg'{xf];\ .
	 Clarify the relation between curriculum and text book in five points.
!$= 	s'g} b'O{cf]6f cfw'lgs z}lIfs ;fdu|Lsf] k|of]u ug]{ tl/sf n]Vg'xf];\ .
	 Write the procedures of using any two modern educational aids.
!%= 	xflh/L hjfkm k|ltof]lutf s;/L u/fpg'x'G5 < n]Vg'xf];\ .
  	  How do you conduct a quiz contest ?
!^= 	sIffdf pTk|]/0ff a9fpg] s'g} kfFrcf]6f pkfox¿nfO{ 5f]6s/Ldf j0f{g ug'{xf];\ .
	 Describe any five ways to increase motivation in the classroom.
!&= 	 lzIfs tflndnfO{ k|efjsf/L ¿kdf k|of]u ug]{ tl/sfx¿ n]Vg'xf];\ .
	 Write the ways to use teacher training in effective way.

cyjf 

	 lzIf0f cWofkg cg'dltkqsf] k|of]u s]sf nflu ul/G5 < n]Vg'xf];\ .
	 For what purpose is teaching license used ?
!*= 	sIffsf]7fdf ;dfj]zL lzIff lsg cfjZos k5{ < pNn]v ug'{xf];\ .
	 Why is inclusive education necessary in the classroom?Mention.
!(= 	kf7\oj|md ljsf; s]Gb|n] ug]{ s'g} kfFr sfo{x¿nfO{ 5f]6s/Ldf j0f{g ug'{xf];\ .
	 Describe any five functions of Curriculum Development Centre in brief.

cyjf 

lzIff tyf dfgj;|f]t ljsf; s]Gb|n] ug]{ s'g} kfFr sfo{x¿nfO{ 5f]6s/Ldf j0f{g ug'{xf];\ .
	 Describe any five functions of Centre for Education and Human Resource De-

velopment in brief.
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;d"x u Group ‘C'  
tnsf k|Zgsf] nfdf] pQ/ lbg'xf];\ M					     #×*=@$

Give long answer of the following questions.

@)= 	pQ/afNofj:yfdf b]lvg] gsf/fTds Jojxf/nfO{ s;/L Joj:yfkg ug{ ;lsG5 < pbfx/0f;lxt 
JofVof ug'{xf];\ .

	 How can negative behavior in the late childhoodbe managed ? Specify with an 
example.

@!= 	 sIff kfFr sf] g]kfnL ljifosf] s'g} Pp6f kf7df cfwfl/t Ps 3G6Lsf nflu Pp6f kf7of]hgf 
agfpg'xf];\ .

	 Make a lesson planbased on one ofthe lessonsof Grade 5 in Nepali.

@@‍= 	 ljifout / j:t'ut k|Zglar s'g} kfFrcf]6f cfwf/df km/s 5'6\ofpg'xf];\ . k|efjsf/L ¿kdf 
k/LIff clen]vLs/0f ug'{kg]{ s'g} tLg sf/0fx¿ klxrfg ug'{xf];\ .

	 Write any five differences between subjective and objective question.

	 Identify any three reasons to test record keeping effectively.

cyjf 

	 k|Zgkq lgdf{0f ubf{ ckgfpg'kg]{ cfwf/x¿ JofVof ug'{xf];\ .

	 Explain the criteria of test item construction.
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;dfhzf:q
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k|Zgsf k|sf/x¿

k|Zgsf k|sf/x¿ ;f]lwg] ;ª\Vof ;do ljefhg k"0ff{ª\s

clt ;ª\lIfKt k|Zg !! !% ldg]6 !!

5f]6f pQ/ cfpg] k|Zg * ! 306f !% ldg]6 $)

Nffdf] pQ/ cfpg] k|Zg # $% ldg]6 @$

k|Zgsf k|sf/x¿ ;f]lwg] ;ª\Vof ;do ljefhg k"0ff{ª\s

b|i6AoM

;a} k|Zg clgjfo{ x'g] 5g\  t/ Pp6} k|Zgdf ljsNk lbg ;lsg] 5 .
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dfWolds lzIff k/LIff
gd'gf k|Zgkq

ljifo M ;dfhzf:q

k"0ff{ª\s M &%                                           ;do M @ 3G6f !% ldg]6 

					     ;d"x s Group ‘A'
tnsf k|Zgsf] Ps jfSodf pQ/ lbg'xf];\ M			   !!×!=!!
Give answer of the following question in one sentence.

!=	 ;dfhzf:q eg]sf] s] xf] < Ps jfSodf n]Vg'xf]; .

	 What is sociology? Define in a sentence. (K)
@= 	 kz'kfns ;dfhsf] ;fdflhs lhjg emNsfpg] Ps kf]:6/ tof/ ug'{xf];\

	 Prepare a postar to reflect the social life of pastoral society.(A)
#=	 k|s[ltdf lge{/ hLjg k4lt eGgfn] tkfO{F s] a'em\g'x'G5 < n]Vg'xf];\  . 
	 How do you understand nature dependent life system? Write.(U)
$=	 lzsf/L ;dfh / cf}Bf]lus ;dfhlarsf] s'g} Ps leGgtf n]Vg'xf];\ . 
	 Write a difference between a hunting society and an industrial society? (HA)
%=	 dWosfnLg g]kfnL ;dfh eGgfn] s'g cjlwnfO{ hgfpF5 <
	 Which period is indicated by the medieval Nepalese society?(K)
^=	 e"ld;'wf/ P]gn] g]kfnsf] ;fdflhs cfly{s cj:yfdf kf/]sf] k|efjnfO{ s;/L d"Nofª\sg ug'{xf];\

	 How do you evaluae the impact of land roform act in the socio-econocic life of 
condition of Nepal? Write in a senterce. (HA)

&=	 n}ª\lus :t/Ls/0fn] tkfO{Fsf] ;dfhdf kf/]sf] k|d'v k|efj Ps jfSodf n]Vg'xf];\ .
	 Write, in a sentence, the significant impact of gender stratification in your society?(U)

*=	 dflg; s;/L s'ntdf km:5 < Ps sf/0f n]Vg'xf];\ .

	 How does a person fall into addicttion? Give a reason.(U)
(=	 tkfO{Fsf] ;dfhaf6 afndhb'/ pGd"ng ug{ ;xof]u k'¥ofpg] r]tgfd"ns gf/f n]lvPsf] Kn]sf8{ 

tof/ kfg'{xf];\ . 

	 Prepare a comparatively informative poster that could help eradicate the child 
labor from your society.(A)

!)=	 jt{dfg g]kfnL ;dfh ¿kfGt/0fsf lglDt ;'rgf k|ljlwsf ;fwgx¿nfO{ s;/L k|of]u ug{ 
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;lsG5 < Ps jfSodf n]Vg'xf];\ .

	 How can we use the means of information to transform the present society? 
Write in a sentence.(K)

!!= 	olb tkfO{ cfkm\gf] j8f cWoIfnfO{ e]6\g'eof] eg] tkfO{+sf] ;dfh kl/jt{g k|ls|of;DaGwL s] k|Zg 
;f]Wg'x'G5 < Ps gd'gf k|Zg tof/ ug'{xf];\ . 

	 If you meet the chairperson of your ward, what type of question would you 
asked about the changing process of your society. (HA)

					     ;d"x v Group ‘B'
tnsf k|Zgsf] 5f]6f] pQ/ pQ/ lbg'xf];\ M                                  *×%Ö$)

Give short answer of the following questions		
!@=	 af}l4s hfu/0fn] ;dfhzf:q ljifosf] ljsf;df k'¥ofPsf] of]ubfg 5f]6s/Ldf pNn]v ug'{xf];\ . 

	 Write in brief about the contribution of intellectual movement  to develop the 
Sociology subject.) (K)

!#=	 vf]l/of afnL nufpg] ;dfhdf cfly{s, ;fdflhs tyf g]t[Tj ljsf;sf] yfngL ePsf] dflgG5, 
s;/L < cfkm\gf] ljrf/ n]Vg'xf];\ . 

	 ‘The trend of economic, social and leadership growth started in a slash and burn 
agricultural society.' Give your opinion.(U)				  

					     cyjf

	 cf}Bf]lus ;dfhsf] kfFrcf]6f ;sf/fTds kIfx¿sf] rf{ ug'{xf];\  .
	 State the five positive aspects of industrial society.
!$=	 ;dfhsf] ljsf;s|dnfO{ s'g} Ps ljz]iftf;lxt ;do/]vfdf b]vfpg'xf];\ . 

	 Prepare a time line to show the development stage of society of with any one 
feature. (A)

!%=	 g]kfnL ;dfhsf s'g} kfFrcf]6f ljz]iftfx¿sf] 5f]6s/Ldf pNn]v ug'{xf];\ . 

	 Briefly write any five characteristics of a Nepali society.(K)
!^=	 lj=;+= @)$^ kl5 g]kfnL ;dfhn] k|fKt u/]sf dxŒjk"0f{ /fhgLlts tyf ;fdflhs pknlAwx¿nfO{ 

;d]6L Ps k|ltj]bg tof/ ug'{xf];\ .

	 Prepare a report by including the major social and political achievement of Nepal 
after 2046 B.S.(A) 

!&=	 ;dfhdf JofKt /x]sf] n}ª\lus lje]b cGTo ug{sf nflu /fli6«o klqsfdf 5flkg] u/L Pp6f n]v 
n]Vg'xf];\ . 
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	 Write an article for a national newspaper on eradication of the existing gender 
discrimination of the society. (H.A)

!*=	 dfgf}F tkfO{F s'g} Ps k|b]zsf] ;ef;b x'g'x'G5 . To; k|b]zsf] ;fdflhs ;d:ofx¿ lg/fs/0fsf 
lglDt tkfO{Fn] s] s:tf pkfox¿ cjnDag ug'{x'G5 < of]hgf k|:t't ug'{xf];\ . 

	 Suppose you are a member of a provincial assembly. What types of strategies will 
you implement to solve the social problem of your province? Prepare a plan.(H.A)

!(=	 ;d[l4sf] kl/rolbO{ ;dfh ;d[l4sf] lglDt cfjZos kg]{ s'g} rf/ kl/;"rsx¿sf] af/]df 
5f]6s/Ldf n]Vg'xf];\ . 

	 Introduce prosperity, and briefly write about any four indicators required for the 
prosperity of a society.(K)		  	

						      cyjf

	 g]kfnL ;dfhsf] j}jflxs k/Dk/fdf cfPsf ;fdflhs kl/jt{gsf kIfx¿nfO{ kfFr a'Fbfdf k|:6 
kfg'{xf];\ .

	 Clearify the social changes occuring in marrige system of Nepal in five points

						      ;d"x s Group ‘C'
tnsf k|Zgsf] nfdf] pQ/ lbg'xf];\ M					    *×#=@$
Give Long Answer of the following Questions	
@!=	 g]kfndf ;dfhzf:q ljifosf] P]ltxfl;s ljsf;j|mdsf] ;DaGwdf rrf{ ug'{xf];\ . 

	 Write about the historical development process of sociology in Nepal.)(K)
@@=	 g]kfnsf ;+3Lo k|0ffnLnfO{ lbuf] agfpg /fHo / gful/sn] v]Ng'kg]{ e"ldsf s] s] x'g\ < cfkm\gf] 

ljrf/ n]Vg'xf];\ . 

	 What could be the role of an individual and the state to materialize the federalism 
in Nepal.(U)				  

						      cyjf

	 g]kfnL ;dfhsf] wfld{s, ;f+:s[lts ljljwtfn] g]kfnL hghLjgdf kf/]sf] k|efj j0f{g ug'{xf];\ .
	 Explain the impacts of the religions and cultural diversity in the life style of Nep-

alese people.
@#=	 ljsf;sf ;fdflhs ;"rsx¿ n]vL ;dfhzf:qLx¿n] ljsf;sf] dfkgubf{ s:tf ;fdflhs 

;"rsx¿nfO{ Wofg lbg'knf{ < ;'emfj lbg'xf];\ . 

	 Write the social indicators of development and what types of social indicators need to be 
emphasized by the sociologist to measure the development?
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